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1.  Which of the following is/are correctly matched?

I Hard resin =~ — Cocaine

II.  Oleoresin - Canada balsam

III. * Latex - Rubber

IV.  Alkaloid - Asafoetida

(A) Tonly - & 11 and 111
- ©

IIT only (M) TandIV

géSEWLQJﬁ)QIGﬁ orgl/ ereneu aflwmen QuUESs1D?

Gig e Gyl - Qarssrufer

gl Qrflen  — SETLIT LITGUSLD
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2. Which one of the follov;ring statement(s) about Blue Green Algae (BGA) isfare not correct? .

They are gram negative- photesynthetic cyanobacteria
They have survived for about.3 bﬂﬁon years
Spirulina is the edible form of BGA

Sargassum belongs to BGA

* SleeumeuneteuHmieT eTeney HaiusbuTen U FTyrgame? '

A)  Aymd Apsnsy gafeGaieamsulisn Sallsburs
B) 3 9a6Sudn eSS IMpals | : ]
(C)  svenugpedlent eemrey alenEenLIE snipg Beolusbund
D) sisrsb Beiusblns cuansmwus E{rﬁﬁg@ .
3. The chm;nonema is a coiled structure, which can be easily separated in case of
A (ﬁ(ﬂ » Paranemic coil h (B) Plectonemic coil
() Chromonemic coil . (D) Telonemic coil

&Cymonalinn GeTugl G FHET S@LLUTGLD. Gens aaigns ANLLE g
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(B) Brownian motion and special theory of relativity

In 1905, Albert Einstein (iiscovered
(A) .Photoelectric effect and Brownian motion

(-Qﬂ Special theory of relativity and photoelectric effect
(D)  Photoelectric effect, special theory relativity and Brownian motion”

19056 UL gaeiy e samHiiiyssemae
(A)  gelben eflenarey whpid 19@ramailen Guidsi
(B) QQperefllen Quidsnd whpb Sy ery dandens

(C)  &pdy sriy Gemaens wHm paflblen slleneney
(D)  geflflen flawenay, Apii | g dardies LHmw 9Eraraila @ussn . : . !

1.  Dynamic lift of aeroplanel is based on the principle of Bernoulli’s theorem.
(Glass is less elastic than rubber. _
3. For a system free from external forces, linear momentum of the system remains
constant :
: Which of the above statementis/are wrong?
&) @ only r (B) Both (2) and (3)

(C) @only _ (D) Both (1) and (2)

1. aflomand GG agbyeg, Quiramdldr Cappsams «igtiuemLwras eram(h o drang.
2 sameammg e B Al sereno @iy oAl Genme.

3. GmeﬂsﬂmaﬁgLULng @i seowlndler Coi o hatb g Ll @b,

Cule Rairar B LkisaRa a1 DDA GTEDEL FEDTErIE)?

@ @uipd - C® (@) opgid (3) GranGio
©  (3wied . D) (1) oppis (2) Greandus

A rocket 100 m long at rest starts to move with uniform motion of 0.8 C. What is its length -

' “as seen by an observer at rest?

GS17

M' 60cm ’ (B) 80cm
(€C) 100 cm D 0

floasdmesblurs 100 m ferp Qsrer_ gréGs, 0.8 C Caussgien G&wgum(ﬁur@ ;Elma)u_:rrm
unfrepeuLInaTT Sigean Sarsdlamean erbs m;ﬂuurrs SlerellReur?

&) 60cm - (B) 80cm
(C) ~ 100 em . D)0
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Which of the following has the highest ionizing power?
(4) . Xerays (.BG] Alpha rays
(C) Betarays ) . (D) Gamma rays

Qemeumelesieudmem aragy) Ea D S swre Sweluré@n Fner Claemer. g ?
A) Xsdlisdr (B)  syeursdlnsar
(C) ASlLrafiagar D) smorsdrsd

Sound waves from a sounding car are .
(A) transverse waves - ) ) (B{, longitudinal waves
{C) ultrasonic waves . (D) stationary waves

@aﬁig@& Qarawriq HEELD sriladlmbs aumLDd eell Banq :
(A) ©GnsE o . (B) GplLaa
(C) Qeefyamyr gell simwsar : . D) Henew iemas e

Consider the following statements.

- Assertion (A) : Receptors for steroid hormones are located inside the cells.

Reason (R) : Because steroid hormenes are lipid soluble molecules that diffuse easily
* through the phospholipid interior of cell membrane.

.(Aﬂ Both (A) and (R) are true and R is the correct explanation of (A)
(B)  Both (A) and (R) are true (R) is not a correct explanation of (A)
(C) (A)is true but.(R)is false
(D) (A is false but (R)is true

&@e’ssn@tb@'rr&%ﬂurén&mmés seuangled Qamars.

sapm (A) T evigymi(® apniGuorer Geaedlgner o s Qaranse.

. argeard (R)  : eoggmi® epmiGioren o @51]3@@ BEOMLESIG I Ap&S (EeTTHE CleTehg).

erefifléy umavCuralld fager Cae saualmens LG58 g Lg
A A wombd (R) &l wogd R)greng) (A)ée sflwuren ellatsswrgnd
(B) (A) womd (R) sflwimangy yemmed (R)gransgy (A)sﬁiﬁ)@ siliren eflemainena
(C (A ofl yammed (R) o . :
D) A sflweae e (R) &f
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10. Hormone Gastrin acts as
@f] Stimulates HCl production
o (B .Cau:ses-contraction of gall bladd'er
(C)‘ Water and Salt secretilon

(D) Stimulate urine elimination

Caevg M @_njrrr'r&?mrrsnﬂs&r Ceuenauinang

(A) HClepusfHaw g Heug

B) Asslienusmu amees CFlicug)

(©) Brwpmi 2 Lyseer 51688 BElaig)

(D) é]g}]f;r“r QeuaflGuinnsdenar geir(Heug)

11.  The transfer RNA (tRNA) carries the activated amino aeid at its
(A) 5 OHterminal = By 3'CCA terminal:
(C) Ty Cloop - - (D) Anticodon'énd

@urwrpmbd 2. ereir. o (LRNA) myopd e bGar sflesag @ga auugdllld a@s5s

Cleddlma? - .
(4) 5 OH gyl b B) FCCA eIt
(Cy Ty Ceasmay ) (D) Q%siﬂii}(ﬁesm_rm&r@aﬂ‘

1 .

12, «Neisser in 1879 discovered a sexually transmitted disease known as
A Syphiilis : (B) AIDS
@4 Gonorrhoea ' : (D) Hydrocele

18796 Brevevnt erhs Lnwellamar Cprullenensd el g sgmir?
A Srpdogew T (B)  enina
© Qe Gmi ' . D)  yeir clbsasH0 B Conge
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13.

14.

15.

16.

How many printing characters are there in ASCII?
) 90 ' (B) 65

) o4 . (D) 62

ASCII erengyib GerhGarameuuiley asgsmen elSLONET HFFTGW eT(PHHIEEET 2 GraTet?

(&) 90 (B) 65

© 94 - D) 62

GIS stands for _

7.4, Geographic Information System _ (B) Global Information System
(C) ~Graphical Information System (D) Google Information System
GIS eranugy

(A) | yells gaeue (paapenin o (B) @Garmud gseud qpenmenio
(€C) drmYsc gaeud penpenn (D)  an@er sEaue apapans

is the binary equivalent of (12),,. '

(A) 0001 0010 @& 1100

© 1101 (D) 1010
(12),, erénugen @yeiriq omen wliy ‘ BB, -
(A) 00010010 3 (B) 1100

(¢ 1101 - - (D) 1010

The warm current that travels upto Cape Hatteras is known as
(A) Benguella (B) Labrador
(1" Guif stream : (D) Falkland . .

G bt L6 eueny it Q&@@J‘Lb Qeutis BCom L sfen QUi :
(A) QuiagGuerfCrmin (B)  emgmi BCmLb
(C) sousCmiLb : D) JSursempgy FCrm b
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17. "Match List I and List IT and select the correct answer using the codes given below :
List T | © ListII
(a) Pangaea ' 1. Continental drift
(b} Panthalassa ' 2. Large land III;I‘SS
’ (_c) Tethys . - 3. Huge ocean
(d) Wegenejr ' 4. . Small seas

@ ® © @

11 - ) (
(A) 3 2 1 4
(B): 4 2 i 3
© .2 3 1 4 )

! 2 3 4 1

uigwd [-ere ulgud [l-gmer Aur@ss ulgudsegniEs 60 o drer Ggﬁ@ﬁ&]aﬂ@ﬁ)@'
gfhwunrer sllen ulenen GgMey Qass: [ '

- ulgwe uCiguisb I1
(@ urméngdur . 1. . e paie;
(b) ushg,r;urrarrr 2. Tedls erey Hleotinpliy ‘
© -Qzlo b3 Guflwesdnb "
(d-) Qeugllent - ; 4, Adhw 6T

(a) (b) © @

A 3 2 1 4
B 14 2 -1 3
© 2 3 1 4
D) 2 3 4 1

Gsi7 - - 8 o i 0




18.

19.

(4)

Match List I and List II and select the correct answer from the codes given below the list : |

List I
(Major_Rivers)
{a) Ganga
(b) Godavari
() Yamuna
(d) Indus

B N

@ b @ @

Ay 3 4 1 g
® 1 3 2 4
w5 4 3 9 1
D 2 1 4 3

List 11 :

(Percentage of Basin Area) °
98

11.0 i

9.5

26.2

LY

cuflens I-2 e auflans T1- genar Qummad EPQarRasiu’ Gdrear #fwirer efan_ulsmer Ggflay Qawis.

euflens [

(Gl g{@mﬁ]&:m)

=

(a) sk

(b) Camgmeufl

.!.0

(©)  wpenes

d)  Qbs i

o

@ ® @ @

3 4 1 2
@ 1. 3 9 4
© 4 § 9 1
o 2. 1 4 3

4

World's leading prodticer of tea 1s
(A Kenya -

. {C)  China

aiflens IT |

(ybm GyCss uTl sgeissHed)

9.8
11.0
9.5

26.2

(B) Brazil
(W) India

2 aflGal 2ifl5 yeTey Gguﬁlmmmu_i' 2 husd ety prE

(A  Qasenwnr

Q) - &

(B) ACGr&ed
D) @sdwur

GS17
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21.

GS17

Which of the following year is considered as one of the worst drought year in the last one
hundred years of India? ' '

(A) 2000 ) (B) 2001

(¢f] =200z (D) 2006
Qiduneilé s_Bs HIn e Hasfia e Cursinrer aupl & e s smHaLlL[Heugl a5l ? .
(A) 2000 (B) 2001

(C) 2002 ‘ D) 2006

Match the following mineral resources with their reserve places :

List 1 ' List IT
(a) .Bauxite 1. Singhbhum
(by Copper 2. Panna
{(¢0 Diamond 3. Tiruchirappalli -
4 Bilaspur ‘

{(d) Gypsum

@ ®  © @

(A 4 2 3 1
B) 3 4 2 1
(C) 3 1 4 2
@) 4 1 9 3

Qeseu(mid S8 euaThisHmer euhilen G GLiiaGerr® Qurmsgs :

ulgwes 1 o ucguell
(a) undens 1. Hr b
(b} G&by 2. Lighremtt
(c) eeurd 3.  Smedyriudret
(d) T gusn 4, Sleomgoy T
(a) {b) {c) {d)
A4 4 2 3 1
B 3 4 2 1
© 3 1 4 2
D 4 1 2 3

10 ' O
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23.

2

Which inscription referred to “Piyadassi” as the second name for Asoka?
(A)  Girnar ) : " (B) Bhabru
(_(/‘.9 Maski {D)). Rummindei

“@wingf” (Lﬁimmg,r‘rélsuﬂj GTERLD @ua'r.n_mb Quweny Geramse @HlLIRD sateul{ erg?
(A)  dliveoi .. - By vmiem
©  wevdl, _ D) @B&Csn

Consider the following about Vedic literatures :
I. . The Brahmanas are the treatises relating to prayer and sacrificial ceremony.

II. The Upanishads are philosophical texts dealing with topic like the soul, the absolute,
the origin of the world and the mysteries of nature.

III. The Aranyakas are called country books.

IV.  The author of Ramayana was Vedavyas and that of Mahabharata was Valmiki.

Choose the correct code :

(A) ‘L ILIII and IV x (B) II, Ill and IV only

(@) TandII only (D) TIl'and IV only

Gmg, &a @eosiukise u,r_r;gﬂ @mm@m gm_g)mg) Seuea :
L m@urr@ wimnd Caldrallser @@g,g, aﬁlm&a;rma;m Srmoenhisaias gapliu’ Herarer.

IL %.mmrr. Qmbod, 2 edlenr CsTopd, Bwphensuddr |_|lﬂu_|rr§_‘, udlitser Gurenn  Ségle

eflerambisenerns same s e LSl Shser
L ]

LY s G @esdlwukisd arens S UILIEEUS) eI SRISET.

v. @qnmnmmgmg,‘sr(gﬁusufr Gmgaﬁlu_!rrar'r, ETLTTSEES BubHiLat aurd 58 syar.

gflwireneudann (ngr;'bgg@ :

@A) LI, wpgoIV- ' B) 1L I pme IV i fo -

(© I wopgbIT o (b @) I wpmbd IV o @Gio

11 : GS17
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24. ° Match :

(a) Shutudri . 1. ' Beas

(b) Vipas ‘ 2. - Ravi

(¢) . Parushni ' 3. ?utlej ’
(d) Asikni 4. Jhelum
(e) _Vitasta : 5. Chenab

Select from the codes given below :

@ ® © @ @

“of! 3 1 2 5 4
B) 1 2 3 4 5
© 2 3 1 4 5
) 4 1 2 3 5

_ Giurr@g',g,jas;
(@) sgEf ' Qumed

) e 2" gned
© unmeye 8. e
@ oo LN Vgt
(e} - fgeism ' 5. Gle;arrrru;l

- @ihuipeafcmbg sflwrer sileveow Cahbeg@ssad :
@ O © @ . ©

A 3 1 2 5 4
® 1 -2 3 4 5
© 2 3 1 4 5
® 4 1 2z 3 5

Gsiz . 12




25.  The important site of Harappa was excavated by
(A) R.D. Banerjee ' . " (B) Sir John Marshall
(¢y/ Dayaram Sahini . (D) R.S.Sharma

apsAwusgeud Gubp G orer apFiuTanes HSPUTTTLER CFuigeuT
(A) g vreried o . (B) & spmer onraged

L (C)  swmprb agrableh (D) wyierein. EToT

26. The 23 Tirthankar of Jainism was

(A) Rishabha {B)) Parsvanath

“(C) Mahavira (D) Ajitanatha '

FLOERT mug,ﬁsur 23-cugs §TEsmisnT ;o
(A  Megum - (B) urrr'r&m(rﬁrr‘e_r;r'r
(C)  wemnelgi - (D}  gsmnst
27. Tamil Isai Sangam was established at Madras by )
(A SirRK. Sl’ianmugam Chetti.ar (.B‘)' Sir Annamalai Chettiar
(C) Sir MA Muthaiah Chettiar (D) L.P. Ramanathan Chettiar'
Qeamande s0p Qeres Frussms 2 (HeuTsHuat
A) . st ot Ca. agamapsib Qe iguri (B) & smaTTmE Qe _igwimt
{C) s anber. (paesur et . D). e 8. gronrge G&'-l‘._lq_lljm.]’-
O 13. - . : GS17
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28.

29.

Which one of the following pair is correctly matched?

(A)

By

©
D

Dynasty

Khilji dynasty
Delhi sultanate
Mughal empire
Tughluq dynasty

Name

Ibrahim Lodi
Qutb-udin Aibak
Akbar

Firozshah Tughlug

Qemeugpeuaneunmier sflwns dur@msglinn.L Gegmy. e7&1?

(A)
(B)

<,

(D)

Match List I with List IT and select the correct answer using the codes given below the lists.
List IT i

GUIDFLD

&l eubsLh -
ATV - TV 1o 7 (TR T
Quraamul CugTs

FIETS QIDFID

List [

{a) EKudi Arasu

(b) Revolt

(¢} Pagutharivu

(d) Modern Rationalist

: (a) (b) (c)

Ay 3 1 2
By 4 3 2

< 2 1 4

Dy 1 3 2

auflens T 2 1 an exfleng LI enis Quiagmsd Guﬂm&as@aa@ S Qasrr@muuu@mm ng@utﬂd}@r@,@

aflimes Gﬂ]@ﬂl_uglﬁiﬁﬁﬂg} GQafla) Beuis.

(2)
)
(c)
(d)

(A)
(B)
©
)

euiens [
Bl SHAFS
fGeurau
LBSs ey

oL irelr Greamadlevi

(a) (b) e} -
3 1 2
4 3 2
2 1 4
1 3 2

R

Qo
@gahlib Gaomg
GHLBT BUS
DG

HGgmrasr gl&ars

1971
1934
1928
1925

auflens 1
1571 B
1934

1928

1925

14



30.

31.

Arrange the followmg Mauryan revenue officials in the ascending orde: with the help of the

codes given below :
1. Pradesika _ -
Sdhanika

2
3. Samharta
4

Rajuka
(A) 4,1,3, 2
B 1,342
(© 3,1,24 ' . :

DY 2,4,1,3

Querflwisafen sumarlsgicn sifsriismen Gm@ﬂ@;’bég Swpre @ituipeelsr eped Caia) Dl .

1.  AnCgflar

2. evgrefler |

3. FLOGHTLIT

4. qrgOsan

A) 4,1,38,2

B 1,3,4,2 )
©) 31,24

D) 2,413

Whlch British commander captured the Poligar of Panchalankurmhl Virapandya
Kattabomman .and hanged him?

(A) +  Lt. Maclean \[BS] Méjm_: Ba_nermann'
(C). Col. Agnew (D} Col. Macaulay

ahs 2pmidlGaut @ymem s g,:mué] ung&nmmgrﬁ&ﬂ ureETLSSTIT el yLImay W s @umbioener

analubd gradledlLmi?
&) Oetgemen’ QAusedlen , (B) CGugf urerGier
C) sirared mbeilyy, (D) sfrar QuésrGa

15 : GS17
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33.

GS17

Choose the correct answer

The lndlan National Army crossed the Indo Burma Frontier and planted the National
Tricolour Flag on.

)!  19® March 1944 . (B) 20 April 1944
(C) 7 June 1945 ' (D) 10 July 1945
siilwimen Gﬁ'reml_mu.(ﬁgfr‘rjr;@g,@ﬁ

b Cedw Eoranieud @ndHu-unor gamaliaard srerg. plog apeuial Hamguilamer ghftiu
BTGt : ‘

(A) 19 wmirs 1944 ‘ (B) ‘20glige 1944
(€  7mOar1945 ' ' D) 10 ggOane> 1945

Which of the following is correct?

The unhappiness of the Indian Sepoys at Barrackpore, first surfaced in 1824 hecause.
I. The 47th regiment at Barrackpore was ordered to go to Burma

I1. Caste distinections and segregations within the regiment

[1I. Recruitment of Brahmins were discouraged

IV. Introduction of the Enfield Rifle

A\ 1 . (B) II (C) 1 and I (D) MandlIV

Sp@OId L eeusefler slliners) eg?

GpHuw ﬁuunu.la;aﬂeur &p@gnmﬂmmm 18241 &L‘W(B uqe;guﬂeu apgen ngéﬂm g@mrréﬂﬁ;n@
ST TEHTLD.

L. | ursyflen 47-cug Gflay pregieutd ur'rmrr.mﬁlg';)@ Qrva 2 Farail Ll g)
I premeu’s Afleys@aGer smdl LmgEUI OO g;aﬂammu@;_:r,gsi)

III.  Ggmsarisar Gaiey Qalaudléd aarisLfenenn

IV.  aemSol grinmsd Sipdu@ssd

@ 1 - B) I € Muopmn I @) I opgbd IV

16 ' O




34. Who among the following described the Indian princes as helpers and colleagues in the task
of Imperial rule? .
(A). Lord Mayo (B) Lord Rlpon
Lord Hardlnge II & (D) Lord Wavel

S1p Qar@ssiuc L aiseafid, @iHu wearantser qrasrrﬁug;@u_l %L_ﬁ&;@ n_g,mua.ma;m DOHMILD G]g,rrgj]@uas
GamipigeT erehim s Blieuit wimi?

o (A)  CGuCwmr Gy . (B) tﬂuuarr Ay
(C)  @perLmb amming i 157y (D) Gausue 195y

35." From the following graph which of the following years was the ratioc of Income to
expenditure the minimum.

70
60 4
50 1
40
30 1
204
10

_ Percent profit

1995 -1996 1997 1998 1999 2000

(A) 1996 , | - 1995
©(C) 1998 r e ! D) - 2000

Epsar_ auenyuL SHaNmHE, GRDESULE eumeur-Oswellen Sg5ms 2 LW U@L LD 61517

30
20+
10

@eomu &gr;ﬁgalb

1995 1996 1997 1998 1999 2000

(&) 1996 o . (®) 1995
(© 1998 (D) 2000
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36. The mean of 5 observation is 25, if one of the observation is excluded the mean becomes 20.
The excluded number 1s
&) 45 ‘ ) (B) 40

SO 20 ) ’ (D) 10

5 erawsalen sl Qegrail 25, smpdidimbs @ admmear Sadama aunilar miHosyref 20
erefled, HdamLi_t_ eTewr

(A 45 . (B) 40

{C 20 : _ - M 10

37. The mean of first five prime numbers is

@ 50 (B) 45
©) 56 | D 65

@pg,e:u 5 uan er@maailen anl_(HEaTTaf _
Ay 5.0 . (B) 45
{0 586 - ) D) 65

38. If ‘D’ is the standard deviation of the elements g, )3 7. Then the standard deviation of the
elements @ +3, B+ 3, ¥y + 3 is ¢

@A 1+3 iz}

O - _ B P DY 31

a, B,y -an gl eflewdsn '’ -crafled @ + 3, f + 3, y + 3 -an A Leflowvéab
A 1+3 : ) B [-3
© i S =7 (D) 31

v

39. If the arithmetic mean of 7, 5l, 13, x and a be 10, then the value of x is
(Ay 10 @My 16
) " 12 . ' - D) 15
' 7,5,13, x womd a dwuapdan sgrefl 10 erafld x @ By snars.
A4 10 ‘ B 16 .
© 12 ' D) 15

‘GS17 - 18 | - o



43,

42,

43.

P 1 27P-34Q .

If.afgthen 36P—3Q

@ | ®) l;—“
o . ; "

w U | ® =2

© = 1) %

In 2013, the population of a town is 1,25,000. If it is 1ncreased by 7% in the next year Find
the populatlon in 2014

. (A) 8750 : @J7 1,833,750

(C) 1,16,250 (D) 1,25,000

-

- 2013-@@, @m paEridear wHsMQgres 1,25, 000 <Hss éa,mnq,a) 245 1% Qu@@mrrmﬁa}

2014 @é m&&m@]g,nm&mm& SITEHTa:
(A) 8750 B) 1,33,750 =
(C) 1,16,250 ’ ~ (D) 1,25,000 -

Salaries of Ravish and Sumita are in the ratio 2:3, If the salary of each is 1ncreased by
Rs. 4,000, the new ratio becomes 40:57. What is Sumita’s present salary?

(A) Rs. 32,000 (B) 'Rs. 34,000 -
Y] Rs. 38,000 (D) Rs. 40,000

refiely wpmb sOGTeder cafly S0 2: 3. geublaureT eaglusSlgibd m. 4,000 sfsfgsrd, Ly
sl cflflzn 40:57 aafie, sfisrelargHCura gy cafuib wng ?

A) @ 32000 . (B) @ 34,000
(€% . 38,000 (D)  ¢m. 40,000
Which i6 largest in 28%, 2.8%, -3- and 0.257

o1 28% . - (B) 2.8%

© - B @ 025

28%. 2.8%, -3-, 0.25 - Qaupiiles ergy Guitwsgy? |
A) 28% . : (B) 2.8%

(© % : ) 02
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44. A horse and two cows together cost Rs. 680. If a horse cost Rs. 80 more than a cow then the
ratio of cost of horse and cow is -

&f 75 (B) 57
©. 89 S D) 98

@M GHor wHnb @UG&B‘F@ wrpseien Qwonsg eflene ay. 680. @ Gdeoguiar sllamewreng @
w6 slleaau silL . 80 w@sb aafld dar womb wryar sila@ader slidgwreang
A 75 : By 57

(G 89 : D)y a8

45. 31:- of % of ~§— of a number is 54. Then the number is
(A) 280 ' @5 300
L@ 320 : D) 350

-

@05 o axef Gar % Ldidlé % udley i LhisTeng) 54 L0, erafle) 2ibhs crewrammang

(Ad) 280 - - (B) 300
(C) 320 _ (D) 350
46. IfA:le:i,B:C=~5-:—?~,C:D=g:i'then A:B:C:D is

: 3°9 6 12 714 .

(A)  40:28:35:30 © B! 30:40:28:35

(C)  28:30:40:35 - ‘ : (D) 35:30:28:40
1 4 :QMMNS 5

A:B==-:—, B:C==1—, C:D=—:— el A:B:C: D
39 il T e TS

(A)  40:28:35:30 »yr. (B) 30:40:28:35

(C) 28:30

:40:35 (D) 35:30:28:40

47, 1f (8x+2y):(3x—2y)=5:2.Then x:y is , ‘
@& 52 . . : @) 149
(C) 914 - - (D) 25

'(3x+2y):(3x—2y)=5:2 erefléd x:y pemy
- @) 52 ‘ B) 14:9
& 9:4 ' (D) - 2:5

GS17 i T e}




48,

49.

50.

"581.

A rectangular carpet has an area of 60 sq.m. Its diagonal and longer side together equal
5 times the shorter side. The length of the carpet is

(A) 5m @7 12m
(C) 13m e () 1456 m

S Qodiaus sey dAfLGer Liuerey 60 &8 a{g,m femomen LGS, @mmsﬁlu_(y)m @mm'rﬁg}
Godu ugdular S wLmg SarellhE s arafle, ger ol fiLiddar Sarb u.mgj?

(A) 5.8 . ® 128 .

{C) 1348 : (D) 14548

The number of small cubes with edge 10 cm that can be accommodated in a cubical box of
edge 1 mis '

4 10 ' (B) 100

©n 1000 : o ; (D) 10000 p

1 8 vés Semey o dvar 5@1&51} Quigde aismen 10 Qsif LEs aTaareT sm&@qmmm
GGJG]J&\‘EGUI‘I’LD?

(A 10 : (B) 100

(C) 1000 ' (D) 10000

The diameter of a sphere is 6 cm. ]Et ie‘melted and drawn.into awire of diameter 2 mm. The
length of the wire is ) .
(A) 12m . ®)| 18m

©7 36m ' - . _ (D) 66m

S Camersfar AL Lid 6 Q15! ‘@ e (mhd, 2 18.18 &b Qaveim sbShuns mrri_brfﬁmrré),
2558 oA fard wirg?

(A) 128 e (B) 18.5. .

© 3/S - _ (D) 668 -

Avuniform cireular path of width 4 m is laid out around a circular park of radius 48 m. Find
the area of the circular path :

&7 1256 m? (B) 1255 m?

(C) 400 m? - (D) 1254 m?2.

48 8 SIwnEs Carer eulL aju;,am Lmismellenm Q@aﬂmq{ggg}id} 4 8 siswsdd swifine

L OLITeSS SienwsaslILQEDE. SCLTasdean LFloL STears.
(A) 1256 - (B) 12558° .
(©) 40048 - _ D) 1254.8°

21 . ' : GS17
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52. If B=2, BALL = 27 then BOOK =7
'(A) 40 By 41
G 42 o _ DY 43

B =2 wpmib BALL = 27 arafléo BOOK = ? _
@ 40 . L ® 41

(C) 42 ) ‘ (D) 43-, -
53. ¥Find the missing number : '
3 9
T l1laer| 5

A 10 : ; . . (B) 9
o 3 ‘ : D) 7
GA{HLIL L. GTeiTaneRTd: Smes :

3 ?

o | 714 6
9 | 4
@A 10 ' ® 9

© 8 - ‘ - o 7
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4.

55.

Three v1ews of a cube are glven below. What is the letter oppasite to A?

@&H- , - ® P

Cr B M M

om sar sEsSdn apany edsiomen Camppiiser &Cp GaTHEsLLL Gararg aafld, A-ller argis
LE&SHD 2 dTer erpSa Grgj? ' .

@ H o - ® .P
© B . ™ M
If

(1) Rama scored more than Rani

(2) Rani scored less than Rathna

(3) Rathna scored more than Rama and

(4) : Ramya scored more than Rama but less than Rathna then who scored the highest?
{A) Rama - ~ (B) . Rani

(Dﬂ_ Rathna b (D) Ramya

B A glow ereriicuf rrenflenws el sifis wHOEuerT Quppmr.

(2) gresfl eramueulr FHamTeney el Genpeuran HUiQuer QubpT.

(3)  gsenr erémueuit Fomaneu el Bifls wHIGELeRT QuppmT.

(4) = mbwr erémLeui Fomene 651L Siflswrsab famae . Gapeirgsad wHibluar ng‘)mm‘r

eraflad, @@ <1fla wH QU eurmiwieuT wmi?
@A) o : : (B) yresfl
(©) ogenr o (D) mbwm

.23 GS17
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56. If8—5x4=44and 15-3x3=48then 16-4x5=7"
A o @ 69
€ 20 D)y 25

8—5x4=44 pdmb15 -3 x 3 =48 arafler 16 —4 x 5 =72
(A) O . (B) 69
© 20 D) 25

57. Find the next diagram :

o
[o8)
oG
*n
LX) )

s
~2

-0 - O
@ |, (B) o
© |° o | .

21055 uLgdlencn Sewr(HLlg :

’
-a
o Q
(o=}
- e
e
-~

@] o | ® | o

(© ° (D)
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-Which is the strongest acid? ' )
{&f) HCOOH : (B) CH,COOH
(C) C,H,COOH _ (D) C,H,CO0H

Epsseam_aupdie efflufiEhs sndanb eg? .
(A) HCOOH (B) CH,COOH
(©) C,H,COOH E @O) C,H,CO0H

For a cell reaction

AS) + 2B* == A% +2B

the equilibrium constant is found to be 10'%. Then the E:, value is
&) 0354V B) 0708V

(C)y 00295V (D) 0177V

Bipssen_ Blenswm aflenamue

AS) + 2B = A% +2B

Foblenay wmihled 102 arefia, e Hoy wdli | eramen?

(A) 0354V ‘ (B) 0.708V
Gy 0.0295V ) Dy 0177V

The specific conductance of a 0.01 M solution of KCl is 114 x 10-? ohm-! cm-! at 298 K. Its
equivalent conductance 1s (chm-! em2equt?).

(A)  -0.14 . LB .40
(© 14.0 @) 140

0.01 M KCl senyaailan Hluio aal_gsgjgﬁmaﬂ 298 K—uﬁ!a} 1.4 x 10-3 @LD 'QaS” erafléy, QEsanreedien -
gwren sLggEdner oty (ohm-! em?equt-?) :

(4) 044 (® 140
() | 14.0 D) 140

The compound is used as rocket propellant
tAﬂf' Hydrazine (B) Nitric acid
(C) Ammonia (D) Nitrogen

- rEQal erfl@Qur@ar Ludnumig HE euCurdlssliu@o Qurr@@'r-r

@A) - eeigelier .- B)  apiflé sidan

(C)  =Coreflur - ' ' (D) aopL_ragen

25 ‘ ' GS17
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The main thrust of the Industrial Policy Statement 1977 was to

(A) Promote large scale industries

. (B’) Develop basic industries

T -(C'}" Encourage small scale ancl cottage industries

(DY  Encourage agriculture ‘and allied activities

1977-cub e GrEL Ogmis Cardasud saB e Qednp apy

63.

64.

(A)  Gurerey Qsmfle Hincuamisamer GObLIBSSI6.SI
(B Sigtua Gsniflasismer (anGCabn eug)
(C)  aflw wpmb Frees amplosemar émé@sﬁ]uu@

(D)  Geuarmait HMID TGS BL6lig Henasenar sars@eilLIg)

Governm;ant of India introduced tﬁe Sarva Shiksha Abhivan (SSA) in the year

| (A) 2001-02 ’ ‘ (B) 2002-03

(0f)  2003-04 (D) 200405

SienanemEGD s (#ia Haagm SQwrar-SSA) ean S sms Qidirede sifiapsb Gsuis
e |

(A)  2001-02 _ (B) 2002-03

(C) 2003-04 (D) 2004-05

Fill in the blanks

- India has been recognised as the . country in the world to officially adopt-
Family Planning Programme in .
(A)  First, 1950 ' (B) Second, 1952
(Q)'\ " First, 1952 _ (D) Second, 1951 ,
aredludl_fisener Blirliys.
ews  BrRselle  @QsHur —————— wEsET  pagHligans ——— B0
poLpepiusdug. 2 . '
(A) '@g,surrsug,rra;, 1950 - (B)  @rem_meaugne, 1952
(C) wsareugns, 18952 - (D} @revr_reugna, 1951

GS17
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65.

G6.

Constder the following statements. . o
Assertion (A) : Soil erosion 18 essentially a man-made phenomenon

Reason (R) : Soil erosion is caused due to deforestation, overgrazing, shifting
cultivation and improperly constructed terrace outlets.

@@ Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B) Both (A) and (R} are individually true but (R) is not a corr ect explanation of (A)
(C)  (A)is true but (R) is false

(D}  (A) is false but (R) 1s true

Spasngmbd eunsdlusisaman suasHe Cands.

sapm (A : wessr il imesig) waflgermen 2 @Beurss LB Sieufluorer GALGLS565
: Bapa) ‘ ‘ :
smpard (R) - . ¢ wer fluureng s PGS0, oifls Serellerer sraopwl CuoliSsd,

"ELuCuwie;  Geuemneimeny  wHm  (peapwns  SULUILLAG  &Ulgl
SiemwiLseties e arer BT CleuefGuippid.

Ay Q) vpgw (R) @qw@(ﬁm aifl, Guogy b (R) eramuig (A) eﬂm@ aFflwimanm aﬁ?m&a;w
B A wpmw (R) @r,rmr@m &ifl, Gm@m (R) eremuigy (A) sﬂm@ &rﬂu_lrnaﬂ chlen&sLoebe0
(C) (A) sl opemed (R) geupy :

) (A) e pemer (R) sfl -

The Insurance Regulatory and Development Authority (IRDA) Act was passed in the year

(A) 1986 : . (B) 1991

(&N 1999 (D) ‘)005

arul( e pluR&ss® wHHLD euarTad %wmm (IRDA) s Lib @mg}gg)uut_l_ .:a,txl,w@
(A) 1986 (B) 1991.

©) 1999 , M) 2005

RBI launched the Market Stabilisation Scheme (MSS) in 2004

(A) _ for the sale and purchasé of Indian Currency : T
WBJ asan additional channel to: mop up liquidity

(C)  to iix the rate of interest at the lower level

(D) tocontrol the general price level

2004-cb shengemu HlavaGssbd S sHamen Qbhu Meic ek greumdluig
A _@g}élm'mnmmgmg, eumBiGa|h, ellhuenar GediagHEn
B) Brewwg sanewibiens sMGsLIQLSNHSTE QU SIHSLLIGIITEN 26TL_HOTE
©) ey eigsms @e;nmﬁg, Bleveude Sroreflliughsns
(D) Qung s Hlaawlema s HUURSHMUSDSTS _
27 . GS17
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68.

69.

GS17

The Expert Group to review the methodeology for the estimation of poverty in India in the
vear 2009 was headed by

(A) V.M. Dandekar (B) L.R.Jain

(C)  Martin Ravillion (D)) 8.D. Tendulkar

2009-1b syeing e BbSwimeddr sugenan wHSEH Gaiud dpdapenpan opiey QFingd Gu
@eurgl ';E)GDEEI}Eﬁ'JLDUS]éU S EDDHSH) , )
(A)  eflenb. LranGLgi (B)  erdb. oy Amyullein

(C)  wringen peumedwer (D)  erevg. QLamPerar

Expenditure tax in India was introduced by
&) T.T. Krishnamachari (B) C. Rajagopalachari
(C) Yashwant Sinha | (D) R. Venkatraman

@@Qun&@ Qaaay aufl Geugmed sidlapsd Qeiuiu’ L g
(A) .. Speiyawrorderil - B) & grrmGarurergerd]
(C) weseauhs Hengpm (D) =i, Qeumist_rrner

Consider the following statement ;

Assertion (A) According to the New Economic Policy Globalisation is considered as
an instrument of growth.

Reason (R) o Globalisation increases the cost of trf;mSport and communication.

Which 18 the correct answer?

)] {A) is correct but (R) is wrong

(B) (A)iswrong but (R) is correct

(C)y  Both (A) and (R) are wreng !

(D) (A) and (R) are correct and (R) is not the correct explanation of (A)

Ep&geRT cunddlutisener seus :

gy (AY S burmenmgnrs dareransliLiy. D aDIIDTER Q_IGIT'I:ré:‘ﬂéiéﬁﬂ'GﬁT (T S TES
SEmBLLHEDG.
STFEDTD (lR): o eswwLTEd CUIbGards  LOHMID Agrever  Glgm iybarar  Hewame
; T aifsflsdng. '
Beupmier siluimes eden_ erg)?

(A) (A sAurang ganma (R) geuprangmgh

B) (&) saupreng spema (R) sflunesn@io

(©) (A wopmb (R) Grer(ib saupraranal

(D) (A womw (R) Grar@in sfiunaransy wpmd (B)- (A)ssran sflwren eflenssn sida
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71.

The special Economic Zones Act was enacted in Feb. 2006. Identify which is not the
objective of the SEZ?

(A)  Generation of additional economic activity
'('Jﬁ Promotion of import
(C) Creation of employment opportunities

(D) Development of infrastructure facilities

Bgeufl 20060 e Aningl durmentgny w&r b Gblds 5L 1b @uHnio’ g Qeunbien
GOSECETE 6781610 TS SteRL WITETLD &iTes.

(A) s@poerer QUIHETISTY HLEUYSHEHEET 2 (HeUNHGUg)
(B) @nsgwdlaow sasgeaiiuug
(C) Cauewar sumiiieni 2 (HeUTE@E6US]

(D) s Buwre ausdlaaner 2 (HeursGeug:

Consider the Statement and Reason, choose the correct answer from the codes given below.
Assertion (4) : The Ratnakar Bank is referred to as NH4 Bank in the banking circles.

Reason (R) : Majority of the business of the Bank comes/from cities in and around NH4,
which connects 10 popular cities,

.[;‘16] Both (A) and (R) are correct. (R) is the correct explanation of (A)
B) ' (A)is true (R) is false

(C)  {(A)is true, (R) is not the correct explanation of (A)

(D) Both (A) and (R) are false

&Gy OanpesLulGerer smbgimeile, amgamd, eHarésgens pha@aly, Ger@asliu(Hdrer

GHuSHaaNmbe #flder slemL_mw Gaita) Qe

smEs1(A) - Cowidl el mgsfle ‘ghennat eumidlenw’ ‘prewEmd @mppigserana
aurrd) eran ieplpadlenpenrt.

amyeid (R): @eueumdluller GQuEburerar aigsEsd, HB6EBHEEFTamaLlld
2 aran, wasarhgrans BlEHe 10 parhsaia CuptardreariuBéing.

Ay (A wpmw (RY Gueirkid &, (A) ebier sfwrear ellengsn (R) <@

B) @A) A R) gaup

(C) . (A) #fl grammd (A)-albe@ (R) gihuren eflandah 2o

D)  (A) womid (R) Glrew(GGLo seum

29 ‘ GS17
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Which of the following is not a method of soil conservation?
(A)  afforestation | (B) . increasing the size of particles
(C)  slowing down of the water movement () applying fertilizers regularly

\Gemaigre are h e W@ urr@a;rr&iﬁ@d:: (LPER D B|VED 6TF) ?
(A)  sn(hseer euaTTEFE .

B) e gadasailan sereilear oifaliu(GEsisd
(€)Y o@b bl Caissans Gansed

(D}  Qsm_réfluns o yhseaer @) (Hse

The enzyme discovered by CSIR to increase shelf life of fruits and vegetables is
{A)  kinase super oxidase ' By  ethyl gluconase
(C)  phenyl aldolase D)’ super oxide dismutase

- sefl&6T DD ST euenssaten LSS g,s&rémmsmu Big & &.ere. 0. Nmieuenggrey sevor Hlua il L

76.

GS17

‘Aprd
(A)  ensCanev @luT HysalGLan - (B) afé glertarGeanen -
€ Soar 2HGLrGasw D) iUl ysamen( ganbiyGr 6o
Who is the 40t Chief Justice of India? ) g
(AJ)  Justice Sathasivam (B) - Justice Altamas Kabir

1]

{C)  Justice Markandey Katju (DY  Justice Lodha

@b Hwiredlen proLgne g 2 FFHSDETD SEMOEL0 hHid) wirT?

&)  gdwurst sgrdleud (B) pAwpst oL w6 ST
©)  Bfwyst wrisGL & 19 (D)  EHwper Caomgm

Which of the following countries in late 2013 gave approval to commercial release of
Bt-Brinjal? '

@ji Bangladesh (B) Mexico

{C)  France . . (D) Sweden .

Spsaa prihisaties s BTG 20]:3%&3 yamgean pucHied Bt--ssSfssmuler Swimumy
fwrer Deualui iy b pUUSD suphidlug?

(A)  amste Ggaw : ' _ (B)  QuédCan

(C)  SUgmemen _ D) eval_an
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77.

78.

79.

80.

How many times has Rafeal Nadal of Spain Won the French Open Tenms tournament to
break the record?

(A) Tiumes (B) 8 times
(1] 9 times (D) 10 times

evEuilen e @ gmid prie Wyes grinen W anaiian eflanemum’ G Cum’quld aggsaar e
deuerny srgenanenwl (pdlwig S5TT?

(A) 7 openp , (B) 8uenp

©  Swep @ 10 gpeop

Who among the following have won the National M.S. SBubbulakshmi Award 20147
M Mathangi Sathyamurthy (B} KPAC Lalitha
(C) Sai Kumar ' _ (D) Sujatha

Eipaetor_suis@Eser wnm Gadlw enib.ere. sliyeud 2014 ell@mg Qeucnpmi?
(A)  wrgnidl ssHwapigd (B) KPAC aeligm
(C) - emi @i (D)  sgrgn

Name the scientist/organisation who successfully converted plastic shopping bag into diesel,
natural gas and other useful Petroleum products

(A) Ahmed Khan {B)| Prof. Angela Vincent
(Q{.) Birendra Kumar Sharma (D) " Bose Institute

euenfls ISamevgs @USMET L&D, QUIDMS eI DD S vwggdrer Qu Crrallu By E@AuneTTa
Qeupderors wrpdlu cfiesesreafl/ Simeiamssen Gt Hmes

(A)  oi5wg smebr (B) Cupn. ggpeen ilenGeem’

(C) QCuhdly @om #mon (D) Cunev Bmcuan

Who received Dada Saheb Phalke Award 20137
Q@ Sampooran Singh Kalra B) Vijay Seshadri
(Cy  Pran Sikand (D) Ramesh Agarwal

sngr srafll urdGs eflmg 2013 Qubp BuF wT?
(A)  sbyger Ak s (B) &gl Cayerevdif
(©  dyen s (D) ¢Cwes Msreuted

31 ) GS17.
[Turn over




81. _ Match the following :

Paintings ) States
(a) Kalam Kari 1. Andhra Pradesh
(b) Madhu bam 2. Bihar
(&) Phad 3.  Rajasthan
(@ Warli 4. Maharashtra *

(a) (b) (c) (d)

Ay 1 .3 2 4
@) 1 2 3 4
@€ 1 2 4 3
Dy 2 1 4 3
Qunsss : . £
‘fgArragar , rilemser
(8) sombsrh 1. <A GrGgen
(b) - g Limed] 2. Sgrr - '
) wl 34 FEREN G TeN
(d} eunmiedl 4. WOSTIEG15.T
(a) (k) (e - (d)

(A 1 3 2 4

®) 1 2 3 A
(Cy 1 2 4 3 '
> 2 1 4 3

82.  Which is incorrect pair?
(A) : Saurav Ghosal — Squash tB_"}. ) Malavath Purna — Archery
(C) Heena S1dhu — Shooting (D) Chhanda Gayen — Mountainéer
saupren @amamanis CHFbOswH :
(A) . FauTel CETFED — @G TG B) mrrsorrsu'rrg e — sﬁlsﬁ A TRTHY: 20
(C)y  ablenm Ag — gliurad sHSD (D) #hsm CeOwen ~ wan@GLmgd
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83.

84

85.

86.

87.

Arrange the peaks of Trans-Himalaya region in descending order :
K: — Hidden — Rakaposhi — Haramosh

(B) Hidden — Rakaposhi — K:— Haramosh

(C) K:— Rakaposhi — Hidden — Haramosh

(D) Kz— Hidden — Haramosh — Rakaposhi

tq..l'j'l'l'é"ﬁ'-[G!'D BAwreowgdla o drar Harriaenet B prigeuflasufe euflansiuDsgis :
(A Ko~ afl_én~ msCuid - anrirGiomes,

(B) aflien - graCurd — Ko — apriGuomely

(@  Ko—mmaCundl — gl e — aoriGiomas

D) K:—afliei- gmﬁ(?mrfa‘sp - gre&Gurél

Of the following who is not related to “Chipko Movement‘ ?
(A} ~ Sunderlal Bahuguna By M.S. Swaminathan
(C) Chandi Prasad Bhatt (D) Gaura Devi

WemeumUsu(meT “ALCaT Guissnd” GgeLen dermIeamge wimi?

(A)  apgiamd LEGGemT (B) _erid.ereiv. seumblprgen
(C) spd dgergum_ : ’ (D) seypm Caell
Sumitra Mahajarl is associated with the post of as on June 2014 _
{A) - Lok Sabha Deputy Speaker . (B) Rajya Sabha Speaker
Lok Sabha Speaker . (D) Minister of External affairs

ggws'm 2014 flevsuriivig silgyT wamggen Qbsts Lsellener sifld s SupemT
(A) Ceré sur glenews sUTBTLST (B)  TmswsUr sLNBTLST
(C) = Geord gum sLIrBMLST (D) Bevaflpeys gD SienwésT

“Which one of the following is NOT a'National Symbol?

(A) Mango Fruit . ) (B) Dolphin
(C) Lotus ' @ Coconut Tree

Spssan_aipper o5l GBEI Merend @dema?

(A)  wrbupn (B) LmérSlen

A(C). sOLEDY . E - (D) Gpénenen wid
The Silent Valley National Park is located at which district of Kerala?
(A)  Idukki ) ' (BN Palakkad

(C) Kottayam . (D) Wayanad

Caremalile eThg omeul L Gl el Lateangsnde CaFul Lhisr a{mm‘r_ﬁg}mm@?

A oesé (B) umessr@ -
O CemLwb . . _(D) BT (R
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88. Arrange in descending order of 2011 Child Sex Ratio in India.
@ i Chattisgarh — Kerala — Asom — West Bengal
(B) West Bengal — Asom — Kerala — Chattisgarh
" {C)  Chattisgarh — Asom — Kerala — West Bengal
o - West Bengal - Asom — Chattisgarh — Kerala -

‘@pdurelian 2011 sewsQs@udar Ly @Ep@ssale Ltdler dgses @phgefmedo
S cuenemL (NS5, ' ' -

(A)  esdavst — Cagent — Gamd — CohHE cubisirembd
B)  Cuig euisrend — SiGemb — Gapenm — sglevs
(C)  ssflevat — 2Cemib — Cayerm — GnE QuEIGTaTD

D) GCuis UM BTETLD — HCEMD — sadevaT — CaperT

89. Match the following and choose the correct answer :
Books ' . Aﬁthors
(a) Gold Finch - 1.-  Daniel Pinto
(b) - '3 sections , 2. Vijay Seshadri
(¢) Anticipating India 3. Shekar Gupta -
(d) Capital Wars 4, Doenna Tartt

() (b) (e) (d)

(A 1 . 2 3 4
B 1 .3 4 2
@) 4 2 3 1
o 1 2 4 3
Essam_cupeon Gurmss. sflurer sllewimeng Coiray Galis :
LGSERIGET : . _ S ALt
(a) Carior Sens 1. CLaflww GenGLn
(b) 3 Cadessde 2. el GagsravAil
(0 S LG ok @ESur 3. Goar @lsT
(dY GCsldLer eunieiv ' 4. Gurewem Lt
(a) (b) )y (d)
@ 1 2 3 4
B 1 3 4 -2
©) 1 2 3 - 1
o 1 2 4 3

GS17 ) . 84 : . Q
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91.

Consider the following statements :

1. There are 25 High Courts in India

2. Punjab, Hmyana and the Union Territory of C‘handlgalh have a common ngh Court
3 Natlonlal Capital Territory of Delhi has a High Court of its own

Which of the statements given above is/are correct?
E‘Mf) 2and 3 ) . (B land?2

(Cy 1,2and3 - - () 3only

SipsairL. sppisenet smaHd Qamdrerayb.

1. @psluimellcs 25 gmrr,ﬁé]mmmmesm o _dramen.

2. ugpenL, gmrﬂu_arremrr Log}gnm FERTIGET SpLdleney GLMgleu e au_trrﬁ,é,lmmg)g,mg @a;rrswr@menw
3. Csflu gamepat ALdd sastsan @@ e wifdwamsas Heramharag) '
GuohsamrLeumhie creney Teng? ‘

(AY 2wpmb3 ) (B) 1wpmmbn2

(€ 1, 2wpgb 3 | D) Fwl@d

-

Considering the following statements about the Attorney-General of India.
1. He is appointed by the President of India . \

2. . He must have the same qualifications as are required for a judge of the Supreme
Court .

3. He must be a member of either house of parliament

4, He can be removed by impeachment by parliament

Which of these statements are correct? ¥

&) land2, - S _B) .1and3

(©) 2 3and4 : (D) Sand4

Bpfus sl gnon gyl uplu smhen smbhn CameTarad.
L' @idu @hunss smesmd Huidéstiu@dont

" @ b GabSiveny BALSEE Camawnar sERew Quibg B (més Casamiin

3. umgTgnLanEdien B e;e‘s)a.la;aﬂeb gGaaid @sirr,r_{)lda s muanrs Bmss GeausmmHib
4. GOREFT_[HHET apaid ungn@mmmggnm ug,eﬁl Bésb Qeuiw apigujib

@eupiich sRlwimen sammi 61817
‘(4 1woHmb 2 . g - B) lwhpo3
(C) 2, 3wpmb4 C (D) 3wpmn4 h =
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The Parliament consists of
€M) - Lok Sabha and Rajya Sabha - ’

" @f] The President, Lok Sabha and Rajya Sabha

{€) Lok Sabha, Council of Ministers and Rajya Sabha
(D) Lok Sabha, Rajya Sabha and Vice-President

LI T@IRDER DD GTELIG)]

(A)  &pseru g Codseu

B) gamdud, Spsamu womid G

©) Spsamu, 10§ ennFaywar HMD Codsamu

- D) %@&Gﬂu, GioevsanLs Ln,r_i?ng gienewr genmdlLb

93.

Who is the real executive in a state?

(A) Governor

(B)  The Speaker

{3 ~ The Chief Minister .
(d,))ﬂi The Chief Minister and the Council of Ministers

P mnﬁmgﬁm 2 GRTEOWITET %Lﬂﬁ@@ﬂ'}ﬂ} aél&.rrfﬂ wisT?

A ayept

9.

(B) surgrwar
(C}  @awawest

(D)  (psmLEsHD 6L IL SIEHDFFTEEUILILD

Comptroller and Auditor General is appointed by the
()] President

(B)  Vice-President ¢

(C) . Rajya Sabha

(D). Lok Sabha

. EONAWINE SETTEHES SHanllEamawumearany Bl floug

GS17

(A).  GyUrss s

(B govemts Bwpss seveveurt

(C)  orguw sur
(D) Gandeun
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95.

96.

*Consider the following statements with reference to India.

1. The Chief Election Commissioner and other Election Commissioners enjoy equal
power but receive unequgl salaries

2. The Chief Election Commissioner is entitled to the same salary as is provided to a
judge of the Supreme Court

3. The Chief Election Commissioner shall not be removed from his ofﬁce_éxcept in like
manner and on like grounds as a judge of the Supreme Court .

4. The term of the Election Commissioner is five years from the date he assumes his
office or till the day he attains the age of 62 years whichever is earlier

Which of these statements are correct? _ )
(A) . land2 (Bf] 2and 3

(C) 1land4 | - (D 2and4

£C1p v_crer smpyseRies @bAL Caits aymen LD 15,

1. . geaeow CEigd Qyamamuit wHmb En Caigd %mmurresm swwrar Hfsmid 2 eoLwdliser
QLETE) FLOWHY FhLrembd Qundprisd -

2 gabets Gaiige oyenamu 2 sohdoemnsden ﬁﬁuﬁﬁﬁfﬂﬁiﬂ @mmmwm FLOUIGTLD Guyeﬂg}rn'r
3. essbfoamgdar HHufsmenty Gune SenaDi0 (Sg,rrg,m %mmﬂumq ug,eﬁl f,es.sm Qaiu
Py :

4. soamo Gsigd opemeanui § %m®5@5@ ;_E]tu uﬂ&&uu@a‘)}mr:rr Cogib 2T 62 euwig
eLGUTps BroudpCsT ETemed as (paaEns s hADBST Sigen Lig Lgad sTOLTT
Reveusaflar erencu &tﬂmnm@m?

A loppo? : ®) Zwppb3 .

© 1oppd4 _ T OD) 2wpmo 4

Central Vigilance Commission was :aet up on the recommendation of
(A) Gorwala Rep_brt

8! Santhanam Committee

{C)  Kripalam Com'mittet-e .

(D) Indian Administrative Reforms Commission

© B sansnenilin /el ST eTiey SpananRTD eTHer ufpgiengulien Guie gmu®§g)uuLLg|?

(A) Gamieurer iflsma

B) spgrand G
(C) Amuurefiaf Gy .

@)  @idu Piraurs FHmss Yoo

) . . 87 _ GS17
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97.

98.

GS17

Which one of the following statements about Comptroller and'AuditDr General of India is

not correct?

(A)  He has no direct access to the parliament and no minister can represent him

(B) His salary and emoluments are chargeable on the consolidated fund df India

t?U]'-'3 He cannot disallow any expenditure which in his opinion violates the constitution

(D} He has been debarred from holding any office of profit under the union or state govt.
after his retirement

Epdoam_eihmeT ahg wmby @HEwneller Gmaweanin sawrd@E whph Senflsamawsment LbMLg Flude

GTEUTLI NG T [} 5.

(A) SuEsE ungn@m&nm&@usﬁr Grrg Qem_m] Seiwirg wHmb aTHs HAWEFIHD S6[s)
ArdHuwrs QeuduL qpgurg

(B) weggy eaflud wpme Gp usriuwudasdar Gidwrelan Cerglydu BBusidimbg)
auprsiILERDE ' '

(C)  srduaemoly S senéEE LITDTs Geud 6hs QewellaisEheEid < aibs cupiis Gumtg

D) @B soum saég wHPD safldémaranr UseR gueay BUDD Qerart, WSS B
wrhler Sipgraansaned ueTUuLen Sl sl usel adlgsred oeur Snugefudadmba:

BaaliLGeurr

The institution of Lokayukta was ereated first in Maharashtra in the year
(A) 1970 ‘ (B) 1972
Q) PR % O 1971

‘(‘Swrra;uésﬁlr GG SienolI PSP DLITS masrrmrraiq,qgr.reﬂ@ FJHURSSULLCL &
(A 1970 B) 1972
(Cy 1973 (D). 1971
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100.

Whlch of the following was referred by Surendra Nath Banerjee as “The Magna Carta of our

rights and liberties”? . . )
(A) ' The Constitution of India ) -

(B) The Indian Councils Act of 1919

()  Regulating Act of 1772 ’

of

The Queen’s Pr(')clarnat‘ion of 1858

pg 2 flenoser wHyid a’.g_,gejlug,ﬁma;nem LDSTHTFEID GTGID &Gr;fmé]mrrg, ureniell, Sipdsaim_aupdle

sr;semsarr @O mi?

@) @hfu srfueemniy
B) Gisw seyenfld s_Lib 1919
©  gurEspep sLLb 1772
D  ogfwciier Gralemnbd 1858

1.

2.

3.
4,

(&)

©)

Consider the following statements with regard to Public interest Litigation.

In essence, a third party ean bring before the court issues in the public interest

The Supreme Court may action the receipt of a letter or pest card from a citizen
requesting protection of his fundamental rights '

It 15 also known as social action htigation !

Justice V.R. Krishna Iyer and T.N. Bhagawathi were its proponents
land2 - | L0 ® 2and3

3and 4 - - @f 1,2, 3and4

SpsamL smpmsaild QUrgpa apsE @g,rrll_irunm ampiflenen &H5He Qsrdrs.

1.
2.

(A)
©)

GungBeren s e apamid FUT Grssamansamer FHwepssHe Asnam( eugemd

@05 @hbsen se Sigliuel 2 fawsmar LTFETEGED QuIGLE sgsd aindersGer -
Dieveg U ppaorsGaut BHwapsdib Calps tatarim 2 sspfoamid sigar Cufléd
GlEweuLambd ' '

@\ @@ FPS ij.ﬁSGU)(&} QETLrLmeT eupsE crmgum DD LPEHGITLD

;’B‘eﬁu@ V.R. dmegpenr ouw LDQ)Q;LD ﬁﬁu@ T.N. vaed fCurt grer Beas Q&rrem@
QUbBEEUTEET qg,@.rs‘r

1 whmnd 2 - . B) 2 LDLEJQJLb 3

Buwpgib4 . D) 1,2 3wpmb4

39 o - GS17
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101.

| Consider the following statements.

Asgsertion (A) : " Cuscuta is a parasitic ammal

Reason (R} Cuscuta depends on the hoat plant for 1ts organic food, water and
mineral salts.

(A} Both (A) and (R) are individually true and ( R) iz the correct explanation of (A)
(B) Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
(C)  (A)is true but (R) is false

) (A) is false but (R) is true

) &@é‘.&rr@mj: cuddliLmIsamer seuangdle Gandrs.

sapm (A) : e GLIT cTaTLIg @ el (etrent] eflevk Slamd.

&;TFJ'GMTLB (R) T - SOV@ELT Fag o awa), gamalT wHmb sefo o lysaller Gameusenas
: S,EMTE sreursdleneand enfihEme@ED )

A A upme R) Gresib &, (R) eramug (A) aflpg of wrer eferésn

(BY (A wipmbd (R) @reasrHib #fl, Gueapd (R) ereuigy (A) el eflurmen Aenéside

€y (A sl gyame (R) Seumy . '

D)y (A saum g";;,smm (R) &l

Consider the following statements :

I Chlorofluro carbons have been widely used as super coolants in aerosols and
insecticides. : :
I1. Methoprene is harmful to plants and animals.

III.  Photobacterium phosphoreum is an example of bioluminescence,
IV.  Pedology is the study of soil in the natural atmosphere.

Find the correct statements y

(A} I, 1II, III are correct (B): I, III and IV are correct
()7 . Tand III are correct (D) III and IV are correct

Spésein. Qursdutismans saie]

L UTHESET (aerosois) whpgd  EHs Qaradseie, Qumbumaenowns  GGemCrr
st emGrrasniueanser el @afl g iy searra uusmu@g;g,uu @élszrrmw

. ECsmIfen Freaurtiser eflan GsEnsE Cai aﬁlmm‘aﬂuugngw

L SGumt G umdig Mwid Lmei. Curfiub eretug) e ud @Gﬂna&luunm&@é&@‘a@ﬁg@ﬂﬁﬁ@m

IV.  JSureg eranug Gupens @upadld war upBliv pbeurgn
Epsaam_ @PuiHamen s LwsuHEE sl wimer eflen_emw cr@@.:s,

A LI Log'jgjtb T i @w FAwrerene B) L I vpgwo IV ol Ho sluraaar

. GS17

(C) I wpm ITT o’ Gib sflwirerene (D) I womb IV b G sflwrerened

40 S | '®)




103.

104.

" 105.

The colour of tomato fruits is due to the presence of
(A}  Anthocyanins ' BY Carotenoids
(C) Flavonoids ' (D) Tannins

sharaf upsfic eudmanspe Dd sremiuBib AumEmes snreTLTELD
(A)  pCsmemsuaienser (B &GUI’TI._Iq_GBTI:ru'JG\EGiT
© (Camemii@sdr © © (D) GLeenser

Which of the following is odd one out? .
(A) . Fillicophyta \Bf7 Hysterophyta
(C) Lycophyta o (D) Psilophyta

&g}gé&&n@um@ﬁ)gmm QuirmEsHHSES GHILHADS.

(A) S0CET ey [ (B) mﬁlmbq(ﬁnrr."uar;un'_l_rr :

©) ' ewsCerieullr - ' D) menGamlanii

Cycle dynamo converts

(A)  Mechanical energy into thermal energy
\(B’ﬂ Mechanipai energy into electrical energy
(C) Electrical energy into light eneréy

_(D) Electrical energy into thermal energy

ulFlauairiguilas 2 _srar epLenGom wWrHpeus

(A apdiy D HMEDD (f;lsutlu SLDDATE

(B) - apfr yomenw lew <y ppeons
(C) - flen gyppever el yHpars -
(D) fer pnera Geuliul pyHpers

411
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106

107.

Which of these connected in parallel in a circuit will produce undamped oscillations?

. (A)

(B

o
(D)

R, L {(Resistance, Inductance)
R, C (Resistance, Capacitance)
C, L (Capacitance, Inductance)

R, L and C (Resistance, Inductance and Capacitance)

Beudmien erzenan W shBlen LUdsaim e Genamssied S umT e FaT erpuiib?

(A)
(B)
©
(D}

R, L (BengenL, anblarein)

R, C (BlerganL, Léle%rcgéﬁ)

C, L (WenGgadl, Lanflaannid)

R, L mpoib C (WegeaL, enflaewd womb WarGass)

Which of the following statements are correct?

In an isothermal process,

(@)
()
(€}
(d)

Ay

@

the temperature of the gas remain constant

the gas does not take any heat from the surroundiligs
the internal energy of the gas remains constant

the pressure and volume of the gas remain constant

(b) and (c) are correct (B) (¢c) and (d) are correct
(a) and (¢} are correct (D) (a) and (d) are correct

G Qarhssuul (Hdrear enbmssafler eraneu s UJITGBTGE}GU?'

e Fw@aisublenc flapealic,
(@) . =mg eurujeller Qeuliuflenar IPISSMEGLD
b)  Sipp ey spRCUPERNEHS abs anigh a@LEdma
(¢)  eumyedlen 267 b LIPTEETED
(d)  eumuyeiien B|PSSL DML UHLDET LOTHISHTEID
(A  spm (b) wHYD () eflwumarena (B) spy (c) wHmbd (1) sfiwrereaacy
(C)  sbm (a) wHmbd (c) a:rﬂmrrwmm D) sy (a) wHmbd (d) sthuraemen
42
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108. Match the following blood pigment with their colour

Pigment Colour -

{a) Haemoglobin 1. Green

(b} Hemocyanin 2.  Red

(c) - Chlorocronin 3. Brown

(d) Pinnoglobin 4. Blue

(@ (b (c) @ '

A 1 2 -3 4

By 2 3 4 1

(C) 4 3 2 1

@Y 2 4 1 3

G&nd Fodsmer sigsr Bnsdne appany sfluns Aurmsgs.
it ol

(a) ~ ablGorgCermilen 1 LIFeng

(b) afGuorenawiraflcr 2. - feily

(@ @CarmGrrgGrraflen 3. yyeyew

(d) eaGanmEGarmSien 4. feobd

@ ® © @

A 1 2 3 4

B) 2. .3 4 |

© 4 3 2 1

(D) 2 4 1 3

109. Consider the following statements.

Assertion (A) : A drinking expectant mother can harm the embryo.
.Reason (R) . The alcohol can pass directly into the blood stream of the fetus. -

- (%) Both (A) and (R) areindividually true and (R) is the correct explanation of (A) *
(B), Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
' (O {A)is true but (R) is false '
(D) . (A) is false but (R) is true

Spasrgytd aunswkismers seuargle Ga;rrmss

:5%1.;})@ A - @I.q.&@b‘.) i Slanf) G, g,sm GRH®S ueTTEl &G g,jsmuguggjfﬁmg;rm
SyemTid (R) : mg;urm’rw Bréssden apalors G phangse dewdamg.

(A (A) wpmyd R) Qrearhio #fl. (R} eramug (A)adibg sflumer eflarisgid

(B) (&) wpmd (R) Qyem(ub . (R), (A)ég sflwmen sfleTsEInaam

(©) (&) oM gy emae (R) seum

D) (A gaum e (R) &M

O, ' - 43 - S . GS17
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110.

111,

112,

G817

Photochemical sn:mg is formed by

{\}{)I 0,, NO, H,0,, organic peroxide etc
(B) Consists of mercury and lead .
(C)  Consists of NO, and CO

(I)Y  Hydrocarbons ,

epafl Gaugluid Laflliyenes o awTL_ &S STramTh

(A) .&g,,é;mﬁlga&r; @BLren paamen (), enapl rmer Dpsama(h, < Tenalls Quirepdmean(d ete
(B)  unrggEd WHMIL STTWLID -

(d) | enh el el H@ev (R pmid sriues Glorearmsaen

D) oan Gor sairuen

CD-ROM is a
(A) Magnetic memory ; ~QB) 'J Secondary memaory

()  Semiconductor memory (D) Memory register

&y -Cymid eTamuS)
(&)  srpg Hlaausd : (B @s;aém;nm Elane fleerassib

€©) «ffps s Hloracusi (DY  fevareus udlGeu

Transfer of a file from.a sérver to your computer is called

\g,,a(_'ji’ Downloadiﬂg a file (B) Uploading a file
(C)  Tramsfer a file - (D) Change a file
- Qereufidmbey 2 arayel saflaflsE @@ auma GLorHpb dsdams T
SiapsstLBEng) ‘ '
(&)  ouae uflelpssh Qaiised (B)  eume uFCaunmd Haiisd
(C) . oued @Librhpid Gedisea (D) e wIHOIGH
14 : 0



113. Match List [ and List II and select the correct answer using the codes given below :

List I
(a) .Trc-pc:o's.ph'ars..b _
(b) Stratosphere
(c) Ozonosphére
(d} Ionosphere
(a) (b)
A 3 4
®) 4 2
SO 2 3
C oy 4 3

' (9]

List IT : )
1. Ultra violet rays
2. Réldjowaves
3. Movement _for jet planes

4. ‘ Weather changes

(d)

[y

"o

ulguies e cer tiigue Il-genenr Qur@Ess, Uiy udsersEs S6w 2der Qsre98mbe

siwirer eflen_ullener Asfley CaFiis :

ol gwe I .l tgwen IT
(é) CCrmuGumeniwi 1. U oargt sfliaer
(b) GhJiq.GlJl'_GL_rrrafuﬁ]u.lr'r L 2. © CmaGuwr senaaar
(¢} @CenrCenrav@wi 3. Ol engrid LupsEb LG
(d} SCurCaimeniuim 4. . aunraflepe THDHD

(a) ® T (d)
{A) 3 kY 2 1
B 4 2 1 3
© 2 3 1 4 '
D) 4 3 1 2 -

C 45 S . GS17
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114. Match the items gi.ven in Column A with the items in Column B.

GS17

{a)
(b)
{c)
(d)

{A)
(B)

(1)

Column A

Coal

Aluminium

éopper are

Iron ore

(a) (b)
1 2
3 4
2 4
2 3

(©)

e

(d)

Column B
Sulphides
Bitumincus
Magnetite

Bauxite

QamEd A-enal Agn@d B-aydn Qursses.

(2)
(b)
(©
(d)

(&)
®)
©
o)

Qzngd A
Hlegs -
é@uﬁlaﬂu_ub
Gleby srgy

@by gy

a) = @
1 2

3 4

()

)

[

Qer@d B
FeuenLIL (B
9 Dbl sen
Cusanen_

UTSeng_

46
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115.

116.

The Bokaro steel plant was set up in the year
(A) 1970 (B) 1967
&) 113 @ 1975

GurssnGrT Gy Asm@harame Bmealun’ L aimLwD
(4) 1970 ‘ : (B) 1967

(C) 1973 ) M) 1975

Match List I and List II :

List [ . List IT
(Crop) {(Producer) .
(a) Tea 1. Gujarat
.(b) Rice 2. Kerala
(¢} Tobacco 3.  Assam
(d) Rubber 4. West Bengal

@ O © @

@ 2. 4 3 1

® 1 - 2 3 i

© "4 3 2 1 \
WYy 3 4 1 2

aems L wpyh aws -yoer QunmESs

eueans | cuensg 11
_ {Lu4l) : (2_DusHuwimen) -
(a) - Caulena 1 GRS
(b) . ofl) 2 Capamm
(© uvmsdleoa 3. SIGVEVLD
(d) “wourfr 4 GuhE eumiETemD
@ ® © @
A 2 4 3 1
B 1 2 3 v 4
€) 4 g. 2 1
D) 3 4 1 2
- 47
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117. In India the electricity consumption is given importance to the following sector-order it

according to the importance given by the government

NS
®)
(O
D)

@pduredes EpssavL geonsald Wdaery metabE wsHusgeabd QarhasiLang — <ins

Industry, agriculture, railway traction and public lighting
Agriculture, industry, public lighting and railway traction
Agriculture, public lighting, industry and railway traction
Industry, agriculture, public lighting and railway traction

GarBaED psfluggeun D& sws AuUEEGUESSS. -

(4)
(B)
(©)
®)

118. Match List I with List II and select the correct answer using the codes given below :

(a)
(b)
(c)
(d)

(&)
(B)
(&)

7

euflans I-2 L an cufilans - gear Qurmed euflamssigrse S Oarissuin’ Herer Cgngladimhe

QsmPpsienn, efausmugiamp, Grda Curs@earss whmb Aurg @il gsisd
efleusruid, Qgrdivgien, durg gelluu@dsae wpHD Brulléd CursEarss
sfeugmub, Gung gatuLBSssh, Agndhgan womb Grds CursEeTsa
Qarfpgieen, eleismub, Qung galliIL@SzseD wHMID Gruies CursGaTss

" List ] List 11
Vasanta 1. Summer
Grisma 2. Monsoon
Varsa 3. Winter
Sigira 4. Spring
(a) (b) @ (&)

4 2 3 1 ¥
2 1 3 4

3 2 1 4

4 1 2 3

silwrer silen_ullenar Agile Baurs:

(a)
(b)
(c)
(d)

@
®)
©
(D)

G817

aifiens I auflens I1
QUSHET : 1. CarenL smawlb
Siftavwom 2. L(H8ud HTeD
It 3. @eflT e
HeOlrr 4. @erCGauafllp Hrauid
(a) (b) (c) ()

4 2 3 1
' 2 i 3 4

3 2 1 4

4 1 2 3
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119.

120.

121.

The figure of a dancing g-irl made of bronze is excavated in the place of

(A) Dilly : (B) Lothal

«y) Mohenjodaro . . (D-) Rupar

“lbﬂ‘l;lq_u.; LR’ eTen beuaktsm e (heu GLIMbenlo i@ sam®h aHEEILCLg)?
Q) g ' © (B) Canssed
(C) QunséresnCpr (D)  muoni

Which of the following is/are wrongly matched?

I Bhavabhuti ~ " Malatimadhavam

II. . Subandhu - Vasavadatta

[II. Kalidasa . Dasakumara Charita

IV. Dandia - Avénti Sundari

(4) TandIIl ' B) IandII
(€ ILHandIV @) 11 and IV

Nesraugmaiane HOi6T Seuprs QUTBSSILL BieTarg) 6r5)?

L vy Sl - DTG E LomGauLD

L subs ~  amsasssh

1. srefigmsd R BEHGLONY &rﬂg,gmb

IV,  gamqunr - SiauHE) aﬁégrﬂ

(A') I m,r'og;u_b 111 ' B) Twpgw Il
© LI oppoIV , @) " 111wy IV

How_ . many major Indian private banks have been nationalised in 1969 during
Indira Gandhi's regime?

(A 10 S ® 1n ;

«?ﬂ 14 4 | D) 20

1969-b <pew® @pdor st %Lﬁuﬁ]m @ur@ aThgamenr  HHW gseuﬂu.trrrr euriileer
CaPuwpwiorsai L g?

’

Ay 10 : “(B) 11 |
© 14 D) 20

49 GS17
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122.

" Match :

(a) Al Hilal 1.

L9

{b) Navajivan

(¢) Bombay Chronicle 3
(@) Bande Mataram 4.
(a) (b) (@ (d)
A 1 2 4 3
B) 2 3 4 1
5! 2 1 4 3
o 1 2 3 4
- QUT(HESIS :
() =6 ableorad 1L
(b)  peu gheuen 2.
(c) wbumi Agreslsed 3.
(d) eupBls wrgrb 4,

123.

GS17

(a) (b) (©) (d)

@ 1 2 A 3
B 2 3 4 1
© 2 1 4 3
o) 1 2 3. 4

Mahatma Gandhi
Abul Kalam Azad
Aurob.indo Ghosh
Phercze Shah Mehta

DB &1l
<SIL|6D HEUMLD MG
gu&lrjgj Gaeiy
|Sl(§'rjrrc:1'_°,,aq;rr Gogm

Dinabandhu Mitra’s first play
planters.

(4) Kulin Rulasarvasva

{Cﬂ Nil Darpan

Senupgy SEomeilean @pgd EBrLELTET
QanRawaaner QeuafiliLBGsHug).

(A)  @dla Gevsmaurseur

©)  fe siuer

exposed the atrocities of the British indigo

(B) Ratnavali
(D)} Ras-lila

— padGaw GamgGar GariLdsrrisafln

(B) rdammeuaf
(D) gre&San

50 ' O



124.

126.

K. Kamaraj, participated in Vedaranyam Salt Satyagraha, he was imprisoned and sent to
the prison at - '

(A) Coimbatore {By Vellore
(C) Andaman ) : &B{) Alipur

&. STGTST (Bmg,rrgmu_im 2 Ly &gﬁmn«ﬁu&g,ﬁa} sopg CSTERIL_SHETE, &g Q&u_lgj Hanmulled
D& L @)th

(A)  Gsrwubuggnr (B) Geug_nfr
(C) opswrer ' D) ety

Choose the correct answer from the codes given below :

" (a) Assertion Y The Asoka Chakra found in our National flag consists of twenty four

) spokes. They are in blue colours.
(b) Reason . The twenty four spokes denotes the eight fold path of Lord Buddha.
(4J) Both (a).and (b) are correct
(B) (a)is correct, (b) is wrong _
(C) (a) is partly correct, (b) is wrong
(D) (a) is partly correct and (b) is also correct

&Gép QanPasiul Herer GHuSGaeldmpa oflura e sarRidy.

-(a) S(HES! : Bwg Cailws Aamg i o drer G8rs sEEMD 24 ZYURISHET & ML UIF. DG
’ Bab Hnn Qerdm_eneu. -

(b) gmpemd  : 24 yrisEEnb Lgsilen erenreuiflé @a;rrmma;smm&. Gh&dHenman.

4)  (a) wpmib (b) GrawBuoef B) (a) s, (b) sy

©  (2) ug wiGw &, (bysa (D) (a) én @b, (b) yib s

Our National Anthem was composed by Rabindranath Tagare, it was first su‘ng in the year

(A) .+ 1905 . B) 1906

@) 1911 @ 1912

Bwg Cadlw Egg,cmg, o (meunsdwaur @l}mﬁ[_ﬁgﬁlr}g&r@ Sanlt, FUILTL& apge (pewrs Gmede L
e

(&) 1905 (B) 1906

¢y 1911 . (D) 1912

51 : GS17
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12:?. Match List I with List IT of the following with suitable options

. ..- ListI | . : List II

b (a) Virupaksha Temple 1. Ellora
( Kailasanatha Temple 2.  Kalugumalai
(c) V;ettu'r.ax:l Temple 3. Pattadakal
(@ Ladhkhan Temple 4 '

Aihole

@ O © @

(A} 3 1 4 2
@ 3 1 2 .4
© 1 3 2 4
o 1 "9 3 4

15-(35_) Qaan@éa&ﬁ;ul'_(adrm u_ywe I Sigppg uliqwiea I durmpgsoraubenn CairhOs(Hés.

QEELSTTIER | L igued 11
(a) efimuasr Camdbld 1. Gréu(ﬁa)r}[rrr
(b) msmrr&‘[arr‘é.,fr (‘Iéasrruﬁieb L S(LDGHLDENED
(c) G@.II-_@m‘F.GiiT Ga;:ruﬁ]d') 3. LI L L Saed
@  wlsnen Camae 4 =G

(@  ® @ {d)

(A) 3 1 4 2
(B) 3 1 2 4
) 1 3 2 4
M 1 2 3 4

128. Chinese pilgrim Yuan Chwang visited Kanchiin
ATAD. 840 (B AD.500
() AD.150 . _ (D) AD.720

S wiGEn weurel et sngflenins Lmirenaud L g
Q)  A9.640 . : : (B) £.9.500
© #9150 . D) 49720

GS17 ) Y59




130.

Consider the following statements. . ' , , Gt
Assertion (A) Gandhiji started civil-disobedience movement in 1930.

" Reason (R) : Therefore, the Indian National Congress party did not partlclpate in

the first round table conference held in 1930.
(A) Both {A) and (R) are true and (R) is the correct explanation of (A)
(B) Both {(A) and (R) are true and (R) is not the correct explanation of (A)

: (9’9 (A) is true but (R) is false

D “A)i i8 false but (R} i1s true

Epasrgnd crsduiismar saagHe Gardrs.

apm (A) : srpdlugsar 1930-0 sl opiy Qussimgs Ogmtiflearmi.

smyewrd (R) 2,5Ga1, @i Caflw asrrrmé]rmu &L 19306 s . sulL Goems LDrI"rj‘)lTI_lq_G‘l)
' s@pg Csrararelleemen.

(A) (A wogs (R) &ft. (R) eramug) (A) eflpg sflunar ellendaid
(B) (A wogw (R) sl wbmb (R) Gmnu@j (A) eﬁ'tm@ FiwireT eferssweae

(C) (A) sl spamme (R) seuny
D) A saum yemar (R) &)

Consider the following statements. - _ )
Assertion (A) :  In 1916 Annie Besant organised the home rule league at Madras.
Reason (R) : Its objective is to achiéve home rule through constitutional methods.

\VG Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true(R) is not the correct explanation of (A)
(C) (A) is true (R) is false )

M)  (A)is false (R) is true

Sipaeion mn&&um&mm seuafEaayLb. )
gam (A) - : 1916 b e é.'usmeaﬂ Gluses @&mmﬂﬁuﬁlm gsﬂmrrr_é] FEEHS

. ammg,srm
anyenrd (R) s " srflu@ainlily apanmude gmsmruﬂ 2ienLauGg @gaﬁ Gg;nesesmrr@m

A) (@A) wpgid (R) Grear@Guo & Guognd (R) erarug: (A) g shwrer e.slm:mm}r@m
(B) (A wopgbd (R) @lran@Ouw &l ngmm (R) erarug (A) raﬂg)@ sflwiren eflerdaioae
)y " (A) sl t%s(m're:u (R) seumi -

D) (A saup e (R) & |

53 Cug GS17
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131

132

Consider the following statements consisting of Assertion (A) and Reason (R) and select
your answer using the code below.

Assertion (A) :  The main political task of the national movement from 1870 to 1900 was |
politication, political propaganda and education and formation and
propagation of political ideology.

Reason (R) : The press was the Chief instrument for carrying out this task.
(X)) Both {A) and (R) are true and (R) 1s the correct explanation of (A)

(B) Both {A) and (R) are false _

(C)  Both (A} and (R) are true but (R) is not the correct explanation of (A)

.(D) (4) is true but (R) is false -

Setreu(mo Gin sursfwrigafids Aaresiul.Gerer sabmy (), sryemd (&) fuameusnet SmeH o
Qarawr® &G GarGsaiulHerer Qurgldd Bumpa e hadr dlen_awu Agfley Qelis.

gabm () 1870 apséd 1800 aueng Gsdw @u_lé;a;gﬁe'b'r @ﬁ)‘lé&@&rrmrra: aStenmidug)
au@mwn&@g,m Srflwen dgsemon, soel LOMG  Srdwd (Eaam_um_am_
2 (Heumsdl Ll ge. :

e (&) : . geasflasms wmw usSilsmasmaen Apsdlul FTSRNDTS ummu@gg,uuL_i_@
(A) (&) wpmb (&r) 2 @remid sf (&), (@) eflen e eflet&sLh

(B) () oy (&7} Brasr(Hitd Seim

(C) (&) womb (s} ZirarHio gaflssaflGu efl Lanmd (8r), (an) elen M uwiren eflamssn b
@D ()&, (o) goumy

Which of the following statements 18 TRUE? _

1. The Government of India Act, 193.5, introduced dyarchy in the provinces.
I1. India council was formed in 1935. :

I[1I. Montagu-Chelmsford Reforms Actintroduced dyarchy in the provinces.
IV.  Provincial Autonomy was introduced in 1935.

(4) TandlIl ' B) Ilonly

- (C)y IHonly ) IIl and IV

GS17

S\psaamsuin of #fimeng) arg/crenen?

L. EBEw oirss s ib, 1935, nrflaksatics @l el <l Sanw siflpsiu@siiug.

IL @sflur seyendla 1935-a Agmrisiin’ L g).

II.  wrar@L@-GswevGuri®  &Hmsss s Lid  wrflomsalde Grie sy faw

S flapsinBaslug.
IV, 1935-& wrfle swrld gpuBsslucLg.
&)  Topoon IT ' (B) Ilw (Gw
(Cy IIIuwlEbd - (D) I whmid IV
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133.

r

134.

“(C) 580, 440

.
If the sum of two numbers is 1020 and their difference iz 140 then the numbers are .

(A)- 680,440 2 (B 540,580 B

o ¥ss0,420 . L 0 (@) 520,500 -
B aansaflen st Mg Lgrens 1020, Hmib oeupilen eflggunsd 140 araflés, ibg eremrser

- -
u 3

(A) 680, 440 (B) 540, 580 L
D) 520, 500 , .

Monthly expenditure of a person whose mont}}ly salary is 9000 is as shown in the diagram.
The percentage of money spent for medical expenses is

-

Food
eXpenses

Medu_dl

EXPENSEE

expenses

A  10% @ 20%
©  30% : . (D). 40% -

. 000 wis sbusd, @@@m Epaarreumy Uawdang dowey @&mg,rra) SIeUt IhGEIE
G]&suaﬂg)srras uu.:arru@g,@u_l Lt Sles ¢galig

A 10% S ®@) 20%

©) 30% E : (D) * 40%

55  GS17
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138,

The value of 2,48 x 2,48 ~-1.52 % 1.52 ia
- 0.96
&l 40
© 14
2,48 x 2.48-1.52x1.52 e .
&
0.96
A 4.0
(] 1.4
) 13¢. If 2% =2 =16 then v is

(A 2 '
@ o

2%%Y = 2%77Y = 16 arafled y pengy
A) 2 : '
© o

137. If x+y=12 and xy =32 then L+ is
x ¥

(A)

(O

| = 0o e

x+y=12, xy =32 ceaflld -1—+l S,
. x ¥ -
()

©

e | = Ot | =

138. 142 o8 225
i 10 9
(A) .1

G z

3 .5 2
+(6— — umBIE) ——==?
1+(65 @9 7 uae) -

A 1
< 2

G517

(B)
1)

(B)
(D)

(B)
O

(B)

o

(B)

[45))

(B)

D)

&)
(D)

(B)
D)

|- @

4.4
1.0

44
1.0

g lon o

mica bo|—

paf= =




139.

140.

141.

By sellmg an armcle for Rs. 480, a person lost 20%. For what amount should he SEH it to
make a profit of 20%? . ' ) ; -
(A) Rs. 800 ; : (B) Rs. 760

/] Rs.720 ' : (D) Rs 680 o R

e e Qummetlenen 480 pUTLES eFpuemen QelSTD, IouHES G,rg';u@ub By b 20%.

2emae 20% Genrub daéss CeuanHib erempma, 2Bs1 ur@peflanes el oThsaman EHUTLIES

eflng Geueam(Hn? .
(A) - . 800 : ®) . 760
(O . 720 : (D) . m. 680

The highest common factor and lowest common multiple of two numbers are 12 and 144 )

respectlvely If one number is 36. Find the other number
(A) - ) : B) -

(© 36. - ,(Dﬁeta

B eramsaflar BUCLIW Qurg amefl (eugsd) 12, B&fiy Qung) oLrig 144, g eran 36 eraficd
LD @)U 17 (1h, 67 60T 6REnT s HTEHTE. '

(A) 49 : ; , {B). 50

© 36 : (D) 48

Three numbers are in the ratio 3:4:5 and 'lcheir LCM is 2400 Then the HCF of these number

18 z
w7 4 : . ®) 8
2

© 12 B o (D) 20

3:4:5 eranp AHssHe o dTeT e craimaafian 5. Q.o (BaHmy @urr:g,j wLkig) 240 eraflér Gaup e

B.Qur.a. (BLCLmQLirg srpenil)eranen?

(A) 4 _ @ '8
© 12 & o (D) 20

LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600. If one
~number is 280 then the other numberis = '

A, 40 ' (B) 60

-

Q) 8o o (D) 100

& cramsefian 15.Qum.w <oy Sjeupdler 18.0urs efler 14 wLdsrgw. BS.0umw whnwb

B.0ur.s. eflen npgen 600 e erent 280 eraflléd WHG D I(H eTeRTaM TS
(A) 40 : (B) 60
(C) 80 (D) 100

57 ' GS17
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143.

144.

The cémpound interest on Rs. 30,000 at 7% per annum is Rs. 4,-3‘47. The pericd in years is
@y 2 - ® 2= |
€ 3 . D 4

2 HEG 7% @ euigulle, @ 30,000 qpsdigpanear auliy . 4,347 arafied s SiaTe) eTEHaman
g am(paar erends e (B Gy . )
@ 2 ) (B) 2%
© 3 , D) 4

A sum of money doubles itself in 20 years in simple interest. Then the rate of interest per
annum is

@ 5% ' (B) 4%
(€  5.5% : _ (D) 4.5%

(% Dgmens gaaﬂsul_tq_uﬁlw 20 sy risetied @ tisrsng) GI'GEﬂGU eU(RLSHDET e e tg eﬁgmnmg
A 5% : B) 4%

(O 5.5% o : D) 4.5% . ad g

145.

1486,

GS17

The difference between compound interest and the simple interest on Rs, 1,250 for 2 years
at 8% is :

(A) Rs.2 - (B) § Rs. 4
© Re6 ' () Rs. 8

8% euliguien 2 UBLBEEHEG gf,urru.l 12508535rraﬂ am.@ajuq. LDngjLn sefleut 1y &@gLomen
s Huwingomang) .

A mumi 2 (B) epumi 4
(8] @u‘rru'.l 8 :. \ e D) epumd 8

A flower garden is in the shape of a rhombus. The length of its diagonals are 18 m and
25 m. Find the area of the flower garden.

Ay 450m2 @) 225 m?
©) 324m? D) 18m?

R HOSTCLD #mi a8y auyelld o dangl. igen apome el L msdr 18 18, 25 8. ypGsmiL s8en
LIFUILIGTEL| Fe0TE. .

(A) 45052 : (B) 22552

(C) 3248 (D) 1882
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148.

149.

' 150.

If a square and a rhombus stand on the same base, then the ratio of the area of the square
and the rhombus is
(A) greater than 1 877 equalto'l

(C) equalto é— ) (D) equal to 711-

F&ITLD mmgm FMUFSITLD @err@m @Gr .@{Lq.uuasasgemgas @aarrmq.@pgrrm FFITD HMID sTFHTSS 6
upliuerefer aflflsiomang; .

A) g ofswrgh (B) ls@E swwmEb . _
(C) % & (& FDOMEGD ) (D) -}I & (3 FLOOMED

L

Two taps A and B can fill a tank in 10 hours and 15 hours respectively. Both the taps are
opened for 4 hours and then B is turned off. The time taken by A to fill the remaining tank
is )

(A) % hours (B) % hours
2 - 10
(C) 6 hours J,Pﬁ 5 hours

A B vérsiﬂg) Gurisdar e Osmigulfienar apermGu 10 wHmbd 15 mmﬂ@gggﬁéa Byl @ aen b,
Qrem® GeroseEsn 4 weflCryn Sobg el LUl { YUpE Gorl B i ssuubAng. Qg,rn_mruﬁ]em
ergrlw ugHlanws Bl @EQTFUJ A a‘@gsgj.s strrm@m Grrwreng ;

" (A) 14 wenfl Crrw v (B) 8 anﬂ@gbﬂm L
o - . 10
© 6uwaiGrrd - @) % baflCryh

!

A and B can do a work in 12 daysBiand € ean do it in 15 days C and A can do it in 20 days. - .
Then the number of days reqmred to complete the work A, B, C together is

A 5. &} 10

© 15 - : _ ) 20

g Geuenevenit A dmd B 12 prlseflgin B vpmpb C 15 priisafigis C wogib A 20 smsaflgud
apig L arafled A, B, C G&rrpa@ é{ggs Geuenaven (ig &8 GoaneutiiBibd prisaflsn creamranflsens

A 5 ®) 10 ,

©) 15 . @ 20

If 9 girls can prepare 135 garlands in 3 hours, number of girls to prepare 270 garlands in
1 hour is

& 20 s BY 54

. 48 . O 19

3 wafl Crosflad 9 Quansar 135 wra@smar g;wrrr?]aaeﬂmg)mn GTGUﬂG’D @  Loauf Grrbgg,lé,]m
270 wrenesmer sunflés CaameniLHibd Cuigmseien crammentl&ens
A) 20 (B) . 54
© 43 . D 19
' 59 L GS17
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151.. The sum of numbers common to two diagrams is

&) 118 ‘ (B) 110
T (O, 108 - - M) 130

_ Qs 1L (erer UL gl FCaEEIb B euerULISEHEEL QUTgaINs o drar aansaier am (g

(A) 118 s B 110
(C) 108 ' % D 130

152‘. (1} D is taller than C but not as tall as B.
(2) * Cistaller than A, '
‘ Who among A, B, C and D 18 the tallest?
(a) LA | @ s
© © - ' D)y D

- (l). D aréitusuit C—gg eflL 2 wigwrensur ypenmad B weraé&@ 2 wndeme. -
2y  Cadmeur A-g el 2 wpnrenaul el A, B, C wpgith D-ullé) 2 wywmereu wiri?
A A (B) B
© ¢ - . @ D

GS17 ' - 60




153.

154.

Find the next diagram.

g3

A) - L‘ - | ol |

o [[T] o |

SB5s UL gdlemer se7H 1. ;

T3

(A) (B)

© l—\ . o | [

Find the missing number in the followir;g series :
1,8,'9, 64,25, 7, 49 '

-

(A 210 ‘ (B) 212

©) 214 @ 2.
Slenaugpd Glgm A efRulL T GHOT R SITGHT -

1,8,9, 64257249 _
(4 210 _ - (B) 212
€ 214 : " . (D) 216

61
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155. Match List [ with List IT and select the correct answer using the codes given below the lists :
List 1 — Officers : List IT — Charges
(a) Rajukas S T
(b) Pradesikas ) 2
(¢) Yuktas o 3. Revenue Collection and Police
. (@) Dharma Mahamatras 4 District Judge

Religion
_ Secretaries

@ O © @

& 4 3 2 1
@ 2 4 1 3
C) 4 3 1 2
Dy 3 4 2 1

aufiens L o1 ar aufleng Il—epensy Glurr@gﬁ mrﬂm&a@a;@ &1 Q&ﬁ@asEEI_IUI_@GFI‘GT AsreLidnig
sflwmen eﬁWmL_Gnu_lg, Gaitey Qais

cuflans 1 — Sifan cuffleng 1T — G]urrg;juu
(a) . grgrad 1. FOWILD S
(b) DoCsefa 2. QawanerT (sioag) arilugilf

auflaue wihmib sreud

Jwraul e SAUS

) was
(dy . smo wsTorgHri

R

@ ® © @

(A) 4 3 .2 1
®) 2 4 1 . 3
© 4 3 1 2
‘) 3 4 9 1

156. Which of the following known as complete fertilizer?
(A)  Nitrogenous fertilizer . ' (B) Potash fertilizer
(0f |  NPK fertilizer (D) NP fertilizer

EpasamL e Traadia wpupamuvinen 2 nb 6rg?
(A)  eplymer o gruger B) " Qum ey e graser

(C) NPK epriuser E (D) NP opnger

GS17 : - 62 : ' 0.




158.

159.

160.

is called buckminster fullerene.

(A) - Diamond ’ . ~ (B) Graphite"’
@) c, 1 : (D) Coal
LGLBlenaVLT o sLjeeuiter eTes BienpasLILI(Haug i G,
(A) aamb 1 - (B)  Agmeeenil
©  Cg D) & :
Which of the following is halide o_re:?

- (A) Dolomite (Bj? Rock salt
(C) Bauxite ' o (D) Galena

S pssam_cupger arg Canaa® srg?
(A)  GLrmaentol” (B) urepeiy
©) unsenenvl ' ' D) seSen
The major component of natural gas is
A) Ethane (Bf Methane
()] Buta;le ) " (D) Propane
@uwhers amueild QUL ukig Cupeals

C (&), nGser il | B) BCzen

©) _ﬂgzz,l'_Gl_aiﬂ . _ ()] |_|G:;n_l1'$1.}siﬂ st

What is the literacy rate of female population in India in the year 20117

)  65.5 percent (B)
(C) 82.1 percent D) 64.5‘percent '

75.3 percent

-

2011-1b yeimiq é @pPHwireiled, waser Asrameuds waafi sHpail eSsb aréan?

(A) 65.5sgelizD . (B)
(C) 82.1 szelisw (D) 64.5 ssaisd

75.3 sgais 5
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i61. . Fé1~eign aid can I'Jerfornﬁ the following gap filling functions in UDCs, ~
"L Savings gap _ '
II.  Foreign Exchahge gap
III.  Technological and Management gap
IV.  Natural Reaourc'e gap - '
{(AY IlandIII %Bv I, IT and I1I
(C) " Tandll ' @) Tonly

cuenied) gendlu prGeelo Geuelisr () Hwrag Spssranib Be Qaefsmar SriLs Qeddog
L Gesluy @G " : ‘

I wibfiu Qsmarad Ge Gaiaf .

Ii. Qgmflémiu wpmb Hlieurs @Gﬁn_(a;uaﬂ

Iv. Bubens cuet @len_Qeuafl - . . )
A I wpmob I11 . ®) 1, II pmyo 111 ' '
©  Iwpgo I L D) o @

-

162. The growth of which one of the following remains an important objective and necessary
condition for inclusive growth?

X5 Agriculture and allied sectors .' ’ (B)' Industrial sector

- . {C) Services sectors ) (D) External sector - -

| Spaar_aupgeT Te@IeLL aeisdl & Crraswrsean. 2 orer_&dlu aeniedaE eudlw

Alussewanurserd Sapdpgie _ ’
(A)  GeuammessT LMD EMHS &)6nD&H6T {(B) @gn@g’)@ﬁég}
{0)  Gewaggopsdr = © (D) Qeefluypepgep

163. Dunkel proposai was related to .
«j “GATT . © (B) UNO
C) IMF , (D) IBRD

Laser S b @sen e Ggm T jen  gr@
(A) aml @u UL (B) BE&HU TG Dena
(© udenn [ HH . o D) ewseaid
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164,

165.

Consider the following sta);:ement :

I. India is a majo-r energy producer

Il.  India is a major energy consumer

III. India faced power shortage since 1950-51

. Which is the correct answer?

(A lonly ° - . " (B) ‘Ilonly
(C) .landlonly - - WY I, 1Iand Il

Epsaanr_ cunEEILIRISET Seuei @

I 2HDR s&Slepws &@GUJTS@LD apsslul ;brr(Be;aﬁaJ @;r;ﬁumeqm Qe .

II.  sypné ssdemw =iflswrs pamb prHsad @baHumalib g

III. 1950—51@51@;5@ BpHureiicr dme s58 Agmribg; u,r_r);urr&@mg)u_lrr&-(‘ém o _aTeTgy.

@eunmiar arg) #flwrer eflen?
A Iwi@o o (B) Hw @

(© Topgwllwc@bd, | - (D) I, II o ITT

Consmler the following statement ;
Statement I . Gross National Product will always be more than t'he GDP.

Statement I1 - To get GNP, net factor income from abread is added to GDP.

Find the correct answer :

(A) Both statements are 1nd1v1dua]ly true and statement II is the correct explanation of
Statement [

(B) Both the Statements are 1nd1v1dua]ly true, but Statement II is not correct
explanation of Statement 1 ’

(C) Statement I is true, but Statement II is false

\P7) - Statement [ is false, but Statement II is true

&lepsa;sanL curdE LkisenaT saiet

sug)gjl e Quags sri® 2 pusd  eruQumupgid QLDIT'&';,&') La'r;brrl._@ &mu,sélmu_l st
2ifiswrsGe §masLb. :
oDl TI i Quigs Bril epusdew  dupeusnes, G]mrrg,g; 2 @M B edHUSHu L an
- GQaefipr@edie @Q@ps Sas@bd bHay ampafsaier eimoragasun Corss
GeuestT(HiLd.
Gleupmiar erg) silwiren aflenL_? - ' . . :
(A) Qrenh smoms@stw gaﬂg,gaﬂ(}?u e amene Cogie spy I, =mpp lsg sfiwner
" alen&&WwTEGm.
B) @rean® eamg)gpja;@(&.n gauﬂg,g},saﬂGu_l EmUJI'I“EHTGE)G\J @wg;uu: 831[_1)_[_!}] II amhn léE sfwner
eflaTagiaa

(©  smpm [aflu rra;Tg, 2pemé spm 11 g,m,r_r)rrsmg)j
D) enm ] seupreng), e sappy [1 #flwireng
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166. Consider the following statement :

Assertion (A) . Price policy aims at controlling fiscal deficit.
Reason (R) 1 Fiscal deficit léads to inflationary pressure.
Which is correct answer? ‘

(A)  (A)is correct but (R).is wrong

B)  (A)is wrong but (R) is correct

(C)  DBoth {(A) and (R) are wrong

() (A) and (R) are correct and (R) is the correct explanation of (A)

*

£g;-é;a;6tim_ aun&EwkISaeT seuail ;

sapom (A) Aood  Barams RAL uppragepeew S sLEUUESEWL ChTésd

oML ILISTGID,
snramid (R): BELODDTEGRD Lawelss Di(pSsEms o am_TaHE.0.
Deupmer eflwimer affen ergy?

(A (A) &rﬂ_u_mﬂrg,j pamed (R) seuprengn@gld

By (A peuprengt yenmay (R} eflwiresgngh

© (A wpgd R) QrenGid souptaierat b

Dy (A mﬁ;@;[n (R} grasr@ib sflwmsenes wpmib (A) & (R) sflwunar aﬁ]mésa;mn@Lb

167. Who was the Chief Guest at the 45 Independence Day celebration of Mauritius?
(A)  Mr. Najib Mikati ' . (B) ' Mr. Pranab Mukherjee
{C) Mr. Shinzo Abe (D) Mr. Gabriel Costa

GlomiSwe By .ar 45-eug aphils Sersganm dAply dipidHantes sabs Qs wiri?

A) Ao pgdublamy : ®B) S Qrerl qpsigd
©) S BeaCour By D) A smANCW Ganem

168. Whois the winner of 2013 Pritzllcer'Architecture Prize?
W) Toyo Ito (B) Jessica Ennis
(C) Seth Macfarlane - {D) Simon Haves

201310 gyenRésrar A evst s sume uflans Qeugmpeur wmi?
Ay  CurGur G (B) Qgmefan erenafien
(Cy Gss QuéuiQaCen (D) enswer Gamen
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169. The world oldest lady Koto Okubo, belongs to which country?

170.

1

-

1.

&) Japan : (B) China
(C) England (I Russlia

2 avdlem euwgnen Guampeafliren CarGLr @Cur ahg B & Gerpgealf?

(A glauner i B) &

(O gnierps . D)  peigwm

Match the following awards with the respective fields.

(a) Borlaug Award 1. Science

(h) Nehru literary Award ‘ 2. Adult education

(¢) Shanti Swaroop Bhatnagar Award 3. Agriculture

(d) Hari Om Ashram Award 4, Various facilities/feminent teachers

@ O © @

«) 3 2 1 4
® 2 3 4 1
) 4 1 3 2
(D) 2 1 4 3

SipaaT Hl(hEIEEHL_ 6 eTene G]g,nt_frqémt_mmmgi)a)g) QunE &

(@) Currem eflmg : in ifleflwch
(b) Cprp oflQ@euref ofl(mHg) £ UGl euBCETT Seall
©) sl eveuenl LLErET Mg 3. eflaugmub
(d) aofl @b gevTbd g 4. W u%bGsugJ gienm = tflurasar

(a) (b) (e} (d)

(AY 3 2 1 4
@) 2 3 4 1
c 4 1 3 2
o) 2 1 4 3

Which of the followingis not correct about IRNSS-1B satellite?
(A} itis a navigation satellite
(B) . lifted off and placed in orbit by PSLV-C23

P A

(C)  has civil and defence applications
(D) lifted off from Sriharikota

IRNSS-1B Qeupenss Carer gHlse Spssam_supnier erg sfumamg) sidea?

(B)  2mgoaflsn G QeubassGare '

(B) PSLV-C23 o er{pggs Qedainl G spp el L Lnrangudsd Sleave Simissiu g
(C) Grrgpel wpmd EETEIGILD FATTS LU HLUF

O  BenCam refledlmpg Qegussiiul g
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172.

173.

174.

175.

Which of the following states do not hévge tiger reserves in India?
(AY Kerala {IB) West Bengal
(C)  Uttarakhand (7)) Jammu and Kashmir

Spssan wrflenisatie Ldsdr ungisriiush @G{mr@s G S wmbleo erg;)?
(A)  Gsgerm (BY Cupe suismemd
(C) o sgayaman (D)  ggbep HmD Sreg

Transgenders were granted the status of third gender b)-! the supreme court on
(A)"  March 20, 2014 ) April 15, 2014
(Cy  June 15, 2014 (D) dJanuary 20, 2014

wrpp LT eggeauRameT ApaTpLDd LneSlemons 2 FFBSIoerpId HBIESTL sulpidlu BreT
(A)  wrig 20, 2014 (B) e 15,2014
(C) @Parl5, 2014 (D) meeufl 20,2014

Which of the following pairs is NOT correctly matched?

Indian Scientists Field of Work/Research
A) C.K.N. Patel " Phetonics and Laser
(B) Meghnad Saha i Astrophysics ,
{(C) Benjamin Peary Pal : Disease resistant varieties of wheat
@)  Autar Singh Paintal " Cosmology and relativity

Slemeumeveneu e #Mudldoeng Gy ergl? ‘
T @ndiu sydlefiuemart G]&.tusnrr’r_b‘r_ﬁ]u_r Lyeuih { g ymisdsl

(A).  A.Cs.eren LG : ssGumirefl & whmb Geost

B CGuwsprs sTanm C T amer BupOud _'

© Glu@mﬁ]siﬂ Gwiifl orer - Crurdy ghuL Guip Camgentn euanaser
D) oyt S muard aneoregd LD{_I")Q;Li} Frrindhoa

Which is the National Sanctuary/Park that houses Pygmy Hog, a critically endangered
species? : )

(A)  Gir (B Kaziranga

2y Manas (D) Perivar

PHOlEID LISHEE e L LRSsOIUL L Gannren WG] apnd ergyib o «Iflasdlen sramrouinrg o grer
Gadlu sramrenwib/ Ly BisT

A Ar : - B  sredl prusr

Q) emen . o Dy Quilwrr
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178.

Name the proposed new distriet of West Bengal State in 20147

(A) - Nalhati B Alipurduar
(C) Silda : (D)  Adra
2014 g c%emq.m Cup@ cukistergfd ySsrs Carhmedlssiuaydrar wral L b eg?
(A) npoanit (B) ey igeunt
{C) &oLnm (D) olgw
Name ‘the Indian origin girl who was honoured as ‘Champion of change in 2014’ for their
exemplary leadership in white house? - . . '
. (A)  Esther Yu Hsilee (B) Dayana Elvira Tores
-§] Pratishtha Khanna (D) Ansahi Mendoza
‘Qeucrener wraflesuiicy wrHnser sngamanunart 2014° efigrg euphd Csempellésiu’ L. @hdu
aubsreuf Quamoenfl wiri? ' ,
(A)  erevgit yyeves ’ : (B) gwment aréves i QLmrev
(C)  dGrdevgr apemrarr. ] (D) perd) Queattiagsr
. Which glacial moﬁptain region was named after Indian origin'scientist Sinha of U.S.A7
!  South Eastern Antartic . ' (B}  North west Arctic
{C) Himalayan Peak Region (D) __North East Alps
'&dmrﬂ&arrmmep @rdw  egnesraf ‘ﬁs&rgg;rrsﬁl@‘ Quwi  eOLGHES seer LRSS
@ (pearerg? . .
(A)  GCgerndipd G eatenr g & ’ - (B) e CGuheins - _ -
C) Quuoaeniar Asmitss D) aLflpsa o6
Which is incorrect pair in the following regarding Indian Tribes?
-(A)  Bodo - Asom "(B) Ghond — Odisha
(C)  Munda — Bihar : 7 Angami — Arunachal Pradesh
IEG%Q Qerpasu_{Hdrer @S ugpr&@uéuﬁ]amrﬂ‘sb 6THS EeneMIEHET FEUDTEIG) _ . .
(A)  GuIGLT - 9Gsmb (B) Gsramn— @iqan ,
(C) gpawir — Gary | ‘ D) smsnd - smamea SyGaen
69 - GS17
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Which of the following is not true about Right Livelihood Award?

180.
(A) The award was established in 1980
(B) ° Itis usually shared by foilr persons
(C)  ltis known as Alternative Nobel Prize
W) Prgsented annually in Brazil
sor_ enaeueiiail eflgns! é’,@(é’;g &g;asmﬁm_rau;bcrgj@h oTgl &zﬂu_lrrm,sisbeu?
(A)  cuailmg 1880-1b ey gouBigsiiu’ L gy
(B) Qungeuns amsﬁl@gj mwan@ Gupmad L&kt Gmnmmuu@aﬁgpgl
(C} eveimg wrpm Curud uflsnss smstiLGAng
(D) ﬁ,‘é&ﬂ@@gﬁgd} QGgsleller euprusiihHme
181. Match the following
(a) Rhinocceros 1 Desert Plains of Rajasthan
(by Hangul 2. Kaziranga National Park
{¢) Gharial .3, ~ Gorumara National Park
(d) Great Indian Bustard 4. ° Dachigam National 'Park
. @ B ©- @
A 1 3- 4 2
B) 4 2 .1 3
© 3 1 2. 4
Dy’ 2 4 3 1
Spaar_aupennls Qunmes s :
(8)  aweawLr O(HSD 1. guggevgnen Lremeveuen snGeuaf]
(b)  ammsd 2 srAyRET Casélw Ly isn
(©  syuy fle gz 3. smwrrr Caslu st
(dy - &G Gibdlwiarr el 4 Lrdlamnd Gl kst
@ © @
A 1 3 4 2
® 4 2 1 3
© 3 1 2 4
o 2 4 3 1

GS17
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183.

184.

185.

IRV 2020 project is related to . -
{A)  Wind energy project ' _ (B) Solar energy project
(Y] Rhinoceros conservation project (D) Ganga River purification project

.
)

IRV 2020 S L ib eranLigy @ s e Qsmiiyen g -

A sy esd Sl (B) @M ssd Lo

(©)  eorCamdyney ungsmiiy ;_ﬂf_l_!.b ‘(D)  siens pd giuewUUHGSED b

GM (Genetically modified) potatoes developed by British scientists is resistant to whlch
disease? -

(A) Block dot : L B/ Late blight

(C) Pinkrot : (D} Potato spindle tuber

ude fgsesrafsard GM (wjuan w8 Larrg)g‘)]mmma;&;uul_l_) &@mmaﬁ]@r&@ b5,
Crrullenat eTH 1@ gmmmu.;sml_u.lgl? :
(A Merrmd L
(B) Gal Qenar

(C) YGews gm_

D o meas HALY &g (Gu rGLCLiT 6 Seinig. & LA Li)

Which are the countries participated in the Bilateral air exercise named “Garuda V”
conducted in Jodhpur, India? 4 ' f

&7 India and France (B) India and Russia

(C) India and America (D) India and Singapore

" @pHurellear Congufi pafa: pgstL L 5@|_rr &l eTepiD @RI Qe @J@]uuuﬂlg}ﬁuﬁ‘lm FRHE

QaEmein_ BrHEser ereney ?
(A)  @idwr wignd Qyrerey il (B) @bSwr wdppbd yeswir

(C)  @rdHur oopd &erﬂésaarr i (D) @Eﬁu.ll‘l‘ Log')Q[Lb Sl

Graphene is used for manufacturing bendable smart phones What is the other field for
which it can be used? .

(A) | Medical Radiation therapy . (B) Super lenses
(C) Quantum computers . P Ultimate water purifier

LOLGE&SEIW GVLOMTL waiGusmen g;urrrﬂuuﬁa) Sy Sew ummu@gguu@ﬁmg Cuaibd g
vwatu(HSSULIHID gjan;o aTE? -
A  wEsse sHTeSEs sud Hamyemb (B) & eNlevenaser

L (©) (&BEUNERTL_LD Senntl eaflaselr ' (D) . sogCul i ssdsfiy sngand
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186.

188.

189,

GS17

Which world heritage monument of India was affected in the storm of May 30, 20147
{A)  Taj Mahal ~ ¥ ' Humayun’s Tomb
(C)  Tomb of Safdarjung (D) Sultan Raziya’s Tomb

G 30, 2014 ghulc que EHpssrd srEslul @;ijﬂu_lrreﬁa'ﬂ 2 wa Gysren seordsny fanans
ergl?

(A)  grg wanre ’ (B) eafwmuer G

(C)  slsmgmeé b - (D) s@gren puwr @b

Which of the following disease 1s not caused by bacteria?
(A) Malaria (B} Cholera
(C)  Tetanus @) Dengue

BLpaeir_sueseudmIer, 6rhs ChHmil Limdlewnsaarme o (hauTSsLL_THg?
(A)  wGafiumr . _ (B) sTagT
{C) Quiiemsv . (D) RTINS

Which isfare correct concerning the Administrative Tribunals Act?
1. It was passed in the yvear 1985

2. The Act includes both the Central Administrative tribunals and the State
Administrative tribunals

(A)_ lonly (B) 2only
()] Both1and2 (D} Neither 1 nor 2

Biteurs Sruumurkser s_L1d QsTiiLing ol aveney sflwiraspeu?

1. =g 19866 @uimmiilii g

2. =g wsHu Hieurs SToumun wrfle Hieurs Stuumuth < dwu Grare_ b 2 diem_ddiwig
(A) lwlpo (B} 2w @
() LwHmb 2 8us @reeriud (DY 1 b 2 e

Wha decides whether A Bill is a Money Bill or not?
(A)) Speaker ) "(B) The Finance Minister
{(C) Finance Secretary (D) Leader of the Opposition

*

S wEsTHTaa Law wCETET erem plyey GEiieug) W
(A)  sunBrLET (B BE sieowndan
(Cy P Qeweren ‘ , D) aHres’ §g gwaeui
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190.

191.

Which of the following are/is stated in the Constitution of India?

1. " The President shall not be a member of either houses of Parliament -
2. The Parliament shall consist of the President and two houses

Choose the correct answer from the codes given below :

Codes : .
(A) Neither 1 nor 2 ' (B’ﬂ Both1and 2

(C) 1 alone . (D) 2 alone

Spsam_cupn e irdwueanliy FLLgHd @HuG_Oul (ererene srameu?

1. G LrEs genaweu LTTITEBLeD Bk Seeusafigid e pObemns Emée wr Lo
- 2. LRTT@HLETDLD GraniF) Gl \WTaE Senaeul oHpib G, SiameusemeTb CEmewL_sTED.
Epsa euflengufler sflwmen eflenL_emw Gaira) Qe : . .
alflcns : .
@A) Bren@bioma Wy B) @ren@id ‘

©) gamwlGid ' E (D)  @uew(® w @b

Who among the following became the Prime Minister of India without being earlier the
Chief Minister of a State?

1. Moraji Desai
2 Charan Singh
. B V.P. Singh
4 Chandra Sekar )
Select the correct answer from the codes given below :
Codes :
(& 1,2and4 ' A" (B) 1,2and3

(C). 2only = &) 4only

S\DSeTL 6L TSHETIE0 Wi ﬂusmgnmém@ @,o‘a"murr& rBle (pEaaITEaTTS u;:saﬁl ma&lé&rrgé;r’raadt?
L. Qurrg] Gaemi '

2. &irenr Sl

3. &9 An

4 spRrCean

‘Sipasam_cupiled sflwren eflen_amw Ggr‘r‘rj,(;].g@ :

aufleng : )
A) 1, 2wpybd ' B 1, 2whpb3
(C)  2wl@b ) - (D) 4wlGb
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192.  The Chairman of the Official Language Commission in 1955 was
(A) Gobind Ballah Pant
@) B.G. Kher
(C) Dr. B.R. Ambedkar

) Santhanam

1955 eg.bLh peimig.en S yemeamugHles sammeursts L i Bsau
(A Gsrds LITeuT LImein_

(B) B.G. Qi

(©  Lréli BR. suGussri

" (D)  sBsmemd

193. The National Commission for reviewing the working of constitution was headed by
M.N. Venkatachalaiah was setup by the Central Government in

) 2000 . (B) 2001
©). 2002 R . (D) -2003. s

Sirfluasmonfer eudur_eL wnoyle) Geumgpsta M.N. QeukiaLrdedamaun genevenwudlé

CaSL penemTid HHEMDSSUIILL LT
" (A) 2000 - £ S (B) 2001
©) 2002 _\ (D), 2003

194. Which Artiele eonsist of the provision relating to composition and its power and functions of
the Election Commission of India? . '

(M) :Article 324 - : (B) Article 356
(©  Article 370 L @) Article 243

ey elld QBHus Caisd o memrgdlen asn;mﬁu_{. DT Lng_ing;Lb UemtlEener o_emene_&&lu jeeng) ?
(A ofid 324 B) o9 356
(C) &84 370 o ‘ D) 94 243
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195.

196.

(@ 2,3and4 (D) land4

Which of the statements given below is/are correct?

1. The State Election Commission supervises and conducts the Election of Panchaya‘cs
and Mummpahtles in the state _

2. It also supervises and conducts the Election of the State assemblies and the
Lok Sabha

& lonly (B) 2only.

(C): land?2 (D) * None of the above

&G Qar{HsaiuLeupyer ergl Fflwmer S fsens?
1 wrfle Gsisd yamemud, wrhosdadrer LG sTUSS wHHL Berm_fsaflar Csigenw
BLdgieugd, Gupurieameuud Heugid

2. wrhle #LL_Famu HILD Waserae CoTsaasamer BLSgeugid, Copumraeuud Hieugin
(A) " 1wl@w . B) Z2wvlpw
) 1 m_ljjgiLb 2 . (D) GCuopamdlu Grg,j'sqLﬁicbmm

Consider the following statements :

©T73 Amendment of the Constitution has provided constitution sanetion for

1. building a 3 tier structure of Panchayat Raj

2 rese;*vation of seats for women d )

- withdrawal of the right of govts. to hold elections to the Panchayats ‘

4 taking away the right of State Governments to give grants to the P.anchayats

Which of these statements are correct?'
«A) 1and2 B) 1, 2and 3

Hemeu(mid sabmsener s@HESSD ardrs.

13ecud SiPFWID SHimss 51 wCargm A weioribio Wenaimeuenmapmsi@E, eulfl UmS Genigicrang)
i. " uEssTwEE 3FFle 3 2PEG Wapaw FgoURSHIeUS -

2 wsafipssrar saf QL eaasd |

3. ugrFmug g ssnet GEirgana ‘I_T)I_;J_‘;g;lt.n D ETLd aq&rrrma;g;ﬂl_ﬂ@'lbg (oL Qu,rj)uuu_gj

4

wrbley |TFThISmISET u@srrmg,@g)@ H auprii@d o fen ublésiud.L g

Qeupde sflwirer sapm erg?

(A): 1 wpmd 2 8 _ B) 1,2whyb 3
(©) 2 3wpmb4 © (D) 1 wmpb 4
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198.

In wh:ich.year, the Lokpal Bill was not introduced in the parliament?

(A) 1968 ’ . B 1971

© 1985 & 1978

&G@ igrﬁﬁﬁh'.@sﬁa% spemHaafia Garsumd wEsTsT arbg < ewiae &lﬂ@auu@ggaul._eﬂ_mmeu?
(A) 1968 . B) 1971 -
(Cy 1985 ' (D) 1978

Which of the following institutions have been setup by Govt. of India to check misconduct,

malpractices, corruption and misdemeénoml:"on the part of public servants?
1. Central IVig:ilam:e Commission

2 Lokpal .

3. . Spegial PoIicg Establishment

4

Central Bureau of Investigﬁtion )

Choose the correct answer by using the codes given below :

(A) 2and3 o ) : (B) 1land4

© (©) 3and4 ' / e {D@l,Bandtl‘

© rsn venflsafler LamilyRGeanflsn souprar pgms., .gg,srr wrprlib dedgan, caped, o8 B

Gumenp ue geuprer CQewdsEnesrs  EAEEL orsTsd SpssarL  ahs @LULS®ET

TPLGSSETeng?

L WHHW LeoaTmiliey S8 (-, enenTiLib)

b2 Gevré Limes

3. SPUIY &revc glenn

4.0 wEA 2 eTeys g

Gy QardEsiuc Herer GhlulGaatldimibg sfwrear allen_enwis GCaid@s 6.
@) 2wpgb 3 3 . B loppod

(C) 3 wpmib 4 M) 1,3 whpd 4
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199.

200.

Which one of the following action amounts to violence against women?

I Physical assault :

IL. Creating hostile atmosphere at work/home

I11. 'I“easing

IV. - Making humiliating/displeasing remark

(A) 1andIlonly (B) I, II and III only
). L IIand IV only (D) II 1l and IV only
Sipsaar s Qswe waahor SEUDSEUSHE FFL_Tatig) ? .
I o L& fHwrs e misgieug) :

II. uanfliyfluyh L sde /e 1q 6 Glmg)juurrsm GLpane qmu@g,g,;a.@

. Gasdl Qaiaig

IV.  sawvrau@sgeg/@Paurs Cuaag

(A) TopgodIloi@on (B) 1, II wpmd 11w Gib
(© LI wpgd IV ol @b

(D) I, IIT whgib IV wi_ @b

Which one of the following is/are wrongly matched?

(a)
(b) -
(©

(@)
(A)
©

21 Feb. 1947
15 Oct. 1949
26 Nov. 1950

24tk Jan. 1950
Both (a) and (¢) are wrong
Both (b) and (c) are wrong

1.

Submission of the report by the Drafnng
Committee to the Constituent Assembly

Acceptance of the  “proposal of  the
Drafting Committee p

Members  “of | the Con%tltuent Assembly
apperuied their signature

The Constitution was adopted
(B) Both (a) and (d) are wrong

{Dﬂ Both (c) and (d) are wrong

Sipéaetn_ eTeneu] eTencusaneiluans B amew a0 1L efldeme ?

(a)

(b

@

(d)
(A)
©

21, Q0reufi 1947
15, &G _mufit 1949
26, peuum 1950

24, smeneufl 1950
(2) wppid (¢) gaup

- (b) wdpgid () Seum

1.

1o

2flwevenoly  Hliemnus @@eﬁh_m'émﬁlémﬁ
gonYs&suulLg)
2flEms sunrilss Gopeden a;@g;g;aseam THné
QamemariT i

srfuamoly Hiremus @upeier Lguulﬁlarrr&;m
Sifsansuiler nabwipsAl Lmi

@Fflweven by SupauliuL g
B) (a) wpgd (d) seup

D) (c) whpmd (d) saupy
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